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QID : 601 - Select the related word from the given alternatives.

Food : Cook :: Furniture : ?

िदए गए िवकʙो ंमŐ से संबंिधत शɨ को चुिनए।

खाना : पकाना :: फनŎचर : ?

Options:
1) Wood
लकड़ी
2) Carpenter
बढ़ई
3) Chair
कुसŎ
4) Mason
िम˓ी
Correct Answer: Carpenter
बढ़ई
Candidate Answer: Carpenter
बढ़ई

QID : 602 - Select the related letters from the given alternatives.

CFI : LOR :: KNQ : ?

िदए गए िवकʙो ंमŐ से संबंिधत अƗरो ंको चुिनए।

CFI : LOR :: KNQ : ?

Options:
1) PON

2) TWZ

3) OMK

4) PNL

Correct Answer: TWZ

Candidate Answer: TWZ

QID : 603 - Select the related number from the given alternatives.

1/16 : -1/32 :: -4 : ?

िदए गए िवकʙो ंमŐ से संबंिधत संƥा को चुिनए।

1/16 : -1/32 :: -4 : ?

Options:
1) 2

2) 4

3) 6

4) 8

Correct Answer: 2

Candidate Answer: 2
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QID : 604 - Select the odd word from the given alternatives.

िदए गए िवकʙो ंमŐ से िवषम शɨ को चुिनए।
Options:
1) Eye
आँख
2) Nose
नाक
3) Brain
िदमाग
4) Ear
कान
Correct Answer: Brain
िदमाग
Candidate Answer: Brain
िदमाग

QID : 605 - Select the odd letters from the given alternatives.

िदए गए िवकʙो ंमŐ से िवषम अƗरो ंको चुिनए।
Options:
1) TSR
2) CDE
3) MNO
4) HIJ

Correct Answer: TSR

Candidate Answer: TSR

QID : 606 - Select the odd number from the given alternatives.

िदए गए िवकʙो ंमŐ से िवषम संƥा को चुिनए।
Options:
1) 217
2) 259
3) 287
4) 261

Correct Answer: 261

Candidate Answer: 261

QID : 607 - A series is given, with one word missing. Choose the correct alternative from the given ones that will complete the series.

Escape, Penalty, Typecast, State, Temperature, ?

एक अनुŢम िदया गया है, िजसमŐ एक शɨ लुɑ है। िदए गए िवकʙो ंमŐ से वह सही िवकʙ चुिनए जो अनुŢम को पूरा करे।

Escape, Penalty, Typecast, State, Temperature, ?

Options:
1) Unfurls

2) Haggler

3) Response

4) Matings

Correct Answer: Response

Candidate Answer: [ NOT ANSWERED ]

QID : 608 - A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series.

ABABABAB, BABABAB, ABABAB, BABAB, ABAB, ?

एक अनुŢम िदया गया है, िजसमŐ एक पद लुɑ है। िदए गए िवकʙो ंमŐ से वह सही िवकʙ चुिनए जो अनुŢम को पूरा करे।

ABABABAB, BABABAB, ABABAB, BABAB, ABAB, ?
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Options:
1) ABA

2) BABA

3) ABAB

4) BAB

Correct Answer: BAB

Candidate Answer: BAB

QID : 609 - A series is given, with one number missing. Choose the correct alternative from the given ones that will complete the series.

-1.75, ? , -0.25, 0.5, 1.25

एक अनुŢम िदया गया है, िजसमŐ एक संƥा लुɑ है। िदए गए िवकʙो ंमŐ से वह सही िवकʙ चुिनए जो अनुŢम को पूरा करे।

-1.75, ? , -0.25, 0.5, 1.25

Options:
1) -1

2) 1

3) -1.5

4) -1.25

Correct Answer: -1

Candidate Answer: [ NOT ANSWERED ]

QID : 610 - Pihu's birthday is on Thursday 4th May. On what day of the week will be Navya's Birthday in the same year, if Navya was born on 21st October?

िपš का जɉिदन 4 मई, िदन गुŜवार को है। यिद नʩा का जɉ 21 अƃूबर को Šआ था, तो उसी वषŊ नʩा का जɉिदन सɑाह के िकस िदन होगा?
Options:
1) Sunday
रिववार
2) Saturday
शिनवार
3) Wednesday
बुधवार
4) Monday
सोमवार
Correct Answer: Saturday
शिनवार
Candidate Answer: Saturday
शिनवार

QID : 611 - The weights of 4 boxes are 80, 90, 50 and 60 Kg. Which of the following cannot be the total weight, in kilograms, of any combination of these boxes
and in a combination a box can be used only once?

चार बƛो ंका वजन 80, 90, 50 और 60 िक.Ťा. है। िनɻिलİखत मŐ से बƛो ंके िकसी भी संयोजन से कुल वज़न, िकलोŤाम मŐ कौन सा नही ंहो सकता है और एक संयोजन मŐ एक बƛा एक ही
बार Ůयोग मŐ लाया जा सकता है?

Options:
1) 280
2) 240
3) 220
4) 200

Correct Answer: 240

Candidate Answer: [ NOT ANSWERED ]

QID : 612 - From the given words, select the word which cannot be formed using the letters of the given word.

BORINGLY

िनɻिलİखत िवकʙो ंमŐ से वह शɨ चुिनए जो िदए गए शɨ के अƗरो ंका Ůयोग करके नही ंबनाया जा सकता।

BORINGLY

Options:
1) ORGAN
2) ROBIN
3) GIRLY
4) BRING
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Correct Answer: ORGAN

Candidate Answer: ORGAN

QID : 613 - If UTOPIAN is coded as SRMNGYL, then how will VEG be coded as?

यिद UTOPIAN को िकसी कोड मŐ SRMNGYL िलखा जाता है, तो VEG को उसी कोड मŐ Ɛा िलखा जाएगा?
Options:
1) QXK

2) TCE

3) WAO

4) LDZ

Correct Answer: TCE

Candidate Answer: TCE

QID : 614 - In a certain code language, '+' represents '×', '-' represents '+', '×' represents '÷' and '÷' represents '-'. What is the answer to the following question?

8 × 16 ÷ 4 + 2 - 10/4 = ?

िकसी कोड भाषा मŐ, '+' का मतलब '×' है, '-' का मतलब '+' है, '×' का मतलब '÷' है और '÷' का मतलब '-' है। िनɻिलİखत Ůʲ का उȅर Ɛा है?

8 × 16 ÷ 4 + 2 - 10/4 = ?

Options:
1) -5

2) 33

3) 22

4) -13

Correct Answer: -5

Candidate Answer: -5

QID : 615 - If 73 % 12 = 13, 5 % 14 = 10, 18 % 20 = 11 then what is the value of 25 % 6 = ?

यिद 73 % 12 = 13, 5 % 14 = 10, 18 % 20 = 11 तो 25 % 6 = ? का मान Ɛा होगा?
Options:
1) 13
2) 61
3) 34
4) 81

Correct Answer: 13

Candidate Answer: 13

QID : 616 -
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Options:
1) 11

2) 27

3) 13

4) 17

Correct Answer: 17

Candidate Answer: 17

QID : 617 - X and Y start from the same point. X walks 75 m West, then turns to his right and walks 130 m. At the same time, Y walks 60 m North, then turns East
and walks 110 m, then turns to his left and walks 70 m. Where is Y now with respect to the position of X?

X और Y एक ही िबंदु से शुŝ करते हœ। X, 75 मीटर पिʮम की ओर चलता है, िफर अपनी दाईं ओर मुड़ जाता है और 130 मीटर चलता है। उसी समय, Y 60 मीटर उȅर की ओर चलता है, िफर
पूवŊ की ओर मुड़ जाता है और 110 मीटर चलता है, िफर आपनी बाईं ओर मुड़ जाता है और 70 मीटर चलता है। X की İ̾थित से अब Y कहां पर है?

Options:
1) 185 m West
185 मी. पिʮम
2) 35 m East
35 मी. पूवŊ
3) 185 m East
185 मी. पूवŊ
4) 35 m West
35 मी. पिʮम
Correct Answer: 185 m East
185 मी. पूवŊ
Candidate Answer: 185 m East
185 मी. पूवŊ

QID : 618 - In the question two statements are given, followed by two conclusions, I and II. You have to consider the statements to be true even if it seems to be
at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement
All chairs are sofas.
Some chairs are lounges.

Conclusion
Some lounges are sofas.
All sofas are lounges.

Ůʲ मŐ दो कथन िदये गये हœ िजसके आगे दो िनʺषŊ I और II िनकाले गये हœ। आपको मानना है िक दोनो कथन सȑ है चाहे वह सामाɊत: ǒात तȚो ंसे िभɄ Ůतीत होते हो।ं आपको िनणŊय करना
है की िदए गए िनʺषŘ मŐ से कौन-सा/कौन-से िनिʮत ŝप से कथन Ȫारा सही िनकाला जा सकता है/सकते हœ, यिद कोई हो।

कथन
सभी कुिसŊयां सोफा होती हœ।
कुछ कुिसŊयां लाउंज होती हœ।

िनʺषŊ
कुछ लाउंज सोफा होते हœ।
सभी सोफे लाउंज होते हœ।
Options:
1) Only conclusion I follows
केवल िनʺषŊ I सही है
2) Only conclusion II follows
केवल िनʺषŊ II सही है
3) Both I and II follow
दोनो ंिनʺषŊ I और II सही हœ
4) Neither I nor II follows
ना तो िनʺषŊ I सही है ना ही िनʺषŊ II
Correct Answer: Only conclusion I follows
केवल िनʺषŊ I सही है
Candidate Answer: Only conclusion I follows
केवल िनʺषŊ I सही है
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QID : 619 -

Options:
1) 

2) 

3) 

4) 

Correct Answer:

Candidate Answer: [ NOT ANSWERED ]
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QID : 620 -

Options:
1) B,A,G
2) F,E,B
3) D,H,F
4) A,B,E

Correct Answer: A,B,E

Candidate Answer: A,B,E

QID : 621 -
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Options:
1) 

2) 

3) 

4) 

Correct Answer:

Candidate Answer:

QID : 622 -
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Options:
1) 

2) 

3) 

4) 

Correct Answer:

Candidate Answer:

QID : 623 -
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Options:
1) 

2) 

3) 

4) 

Correct Answer:

Candidate Answer: [ NOT ANSWERED ]

QID : 624 -
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Options:
1) 

2) 

3) 

4) 

Correct Answer:

Candidate Answer:
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QID : 625 -

Options:
1) 34,12,59,69
2) 65,85,42,77
3) 21,14,99,97
4) 13,04,59,85

Correct Answer: 65,85,42,77

Candidate Answer: [ NOT ANSWERED ]

QID : 626 - Convert binary 1010101 to decimal.

बाइनरी 1010101 को दशमलव मŐ बदलŐ।
Options:
1) 85
2) 87
3) 89
4) 91

Correct Answer: 85

Candidate Answer: [ NOT ANSWERED ]

QID : 627 - A can do 75% of a job in 24 days and B can do half of the job in 4 days. If they work on it together in how many days can they the job?

A 24 िदनो ंमŐ एक काम का 75% भाग कर सकता है और B 4 िदनो ंमŐ उस काम का आधा भाग कर सकता है। यिद वे इस काम को एक साथ िमलकर करते हœ, तो वे उसे िकतने िदनो ंमŐ कर
सकŐ गे?

Options:
1) 12. 8
2) 9.6
3) 6.4
4) 10. 2

Correct Answer: 6.4

Candidate Answer: 6.4
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QID : 628 - The diagonal of a square is 22 cm. What is the length (in cm) of its side?

एक वगŊ का िवकणŊ 22 से.मी. है, इसके भुजा की लंबाई (से.मी. मŐ) Ɛा है?

Options:
1) 22√2
2) 11/√2
3) 33√2
4) 11√2

Correct Answer: 11√2

Candidate Answer: 11√2

QID : 629 - If on a Sale there is 35% discount on the marked price of Rs 2400, but the sale is done at Rs 1248 only then what additional discount (in %) did the
customer get?

अगर एक िबŢी मŐ 2400 Ŝ के अंिकत मूʞ पर 35% छूट है, लेिकन िबŢी केवल 1248 Ŝ मŐ की जाती है, तो Ťाहक को Ɛा अितįरƅ छूट (% मŐ) िमली?
Options:
1) 20
2) 15
3) 25
4) 30

Correct Answer: 20

Candidate Answer: 20

QID : 630 - What is the third proportional to 9 and 75?

9 और 75 के िलए तीसरा अनुपाितक Ɛा है?

Options:
1) 675
2) 625
3) 725
4) 775

Correct Answer: 625

Candidate Answer: 675

QID : 631 - In a class of 52 students there are 22 boys. The average weight of these boys is 57 Kg and average weight of the full class is 42 kgs. What is the
average weight (in kgs) of the girls of the class?

52 छाũो ंकी एक कƗा मŐ 22 लड़के हœ। इन लड़को ंका औसत वजन 57 िक.Ťा. है और पूरी कƗा का औसतन वजन 42 िक.Ťा. है। कƗा की लड़िकयो ंका औसत वजन (िक.Ťा. मŐ) Ɛा है?

Options:
1) 33
2) 31
3) 35
4) 37

Correct Answer: 31

Candidate Answer: 31

QID : 632 - If a scooter is sold for Rs 23,750, the seller will face 5% loss. At what price (in Rs) should he sell to gain 10% profit?

अगर एक ˋूटर 23,750 Ŝ मŐ बेचा जाता है तो िवŢेता को 5% नुकसान का सामना करना पड़ता है। उसे 10% लाभ हािसल करने के िलए िकस कीमत (Ŝ मŐ) पर बेचना चािहए?
Options:
1) 26750
2) 27500
3) 24750
4) 22750

Correct Answer: 27500

Candidate Answer: 27500

QID : 633 - Priya got 26 marks more in Arts than what she got in Crafts. Her Arts marks are 60% of the sum of her Arts and Crafts marks. What are her Crafts
marks?

िŮया को कला मŐ िशʙकला से 26 अंक अिधक िमलŐ। उसके कला के अंक उसके कला और िशʙकला के योग अंको ंका 60% िहˣा है। उसके िशʙकला के अंक Ɛा हœ?
Options:
1) 78
2) 65
3) 91
4) 52

Correct Answer: 52

Candidate Answer: 52
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QID : 634 - To travel 600 km, a Express train takes 3 hours more than Duronto. If however, the speed of the Express train is doubled, it takes 4.5 hours less than
Duronto. What is the speed (in km/hr) of Duronto ?

600 िक.मी. की याũा करने के िलए, एक एƛŮेस टŌ ेन दुरंतो से 3 घंटे अिधक समय लेती है। अगर एƛŮेस टŌ ेन की गित दोगुनी हो जाती है, तो यह दुरंतो से 4.5 घंटे कम समय लेती है। दुरंतो की
गित (िक.मी./घंटा मŐ) िकतनी है?

Options:
1) 50
2) 40
3) 80
4) 60

Correct Answer: 50

Candidate Answer: 50

QID : 635 - What is the difference (in Rs) between the compound interests on Rs. 8000 for 1 year at 12% per annum compounded yearly and half-yearly?

1 साल के िलए 8000 Ŝ पर सालाना 12% चŢवृİȠ ɯाज की दर से Ůाɑ वािषŊक और अȠŊवािषŊक ɯाज (Ŝ मŐ) मŐ Ɛा अंतर होगा?
Options:
1) 24.4
2) 18.8
3) 28.8
4) 14.4

Correct Answer: 28.8

Candidate Answer: 28.8

QID : 636 - If 9x/2 - (1/3)(5x/2 + 7) = -1/3, then what is the value of x?

यिद 9x/2 - (1/3)(5x/2 + 7) = -1/3, तो x का मान Ɛा है?

Options:
1) 6/11
2) -6/11
3) 11/6
4) -11/6

Correct Answer: 6/11

Candidate Answer: 6/11

QID : 637 - If a3 - b3 = 35 and ab = -6, then what is the value of a - b?

यिद a3 - b3 = 35 और ab = -6 है, तो a - b का मान Ɛा है?

Options:
1) 5
2) 2
3) 4
4) 3

Correct Answer: 5

Candidate Answer: [ NOT ANSWERED ]

QID : 638 - A number is greater than 6 times its reciprocal by 5/2. What is the number?

एक संƥा उसके ʩुǿम के 6 गुना से 5/2 से अिधक है। संƥा Ɛा है?

Options:
1) 6
2) 4
3) 5
4) 8

Correct Answer: 4

Candidate Answer: 4

QID : 639 - What is the sum of the first 14 terms of an arithmetic progression if the 5th term is 1 and the 7th term is 11?

एक समांतर ŵेणी के Ůथम 14 पदो ंका योग Ɛा है, यिद पांचवा पद 1 है और सातवां पद 11 है।
Options:
1) 93
2) 73
3) 187
4) 189

Correct Answer: 189

Candidate Answer: 189
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QID : 640 - What is the reflection of the point (-1, 3) in the line y = 2?

रेखा y = 2 मŐ िबंदु (-1, 3) का Ůितिबंब Ɛा है?

Options:
1) (5, 3)
2) (1, 1)
3) (-1, 1)
4) (5, -3)

Correct Answer: (-1, 1)

Candidate Answer: [ NOT ANSWERED ]

QID : 641 - Point A (8 , 2) divides segment BC in the ratio 2:3. Co-ordinates of B are (-1 , 6) and C are (x , y). What is the value of y?

िबंदू A (8, 2) रेखाखंड BC को 2: 3 के अनुपात मŐ िवभािजत करता है। B के िनदőशांक (-1, 6) हœ और C के िनदőशांक (x, y) हœ। y का मान Ɛा है?

Options:
1) -4
2) 8
3) -8
4) 4

Correct Answer: -4

Candidate Answer: [ NOT ANSWERED ]

QID : 642 - At what point does the line 6x - 5y = -12 cuts the x-axis?

रेखा 6x - 5y = -12 िकस िबंदु पर x-अƗ को काटती है?

Options:
1) (2 , 0)
2) (0 , 2)
3) (-2 , 0)
4) (0 , -2)

Correct Answer: (-2 , 0)

Candidate Answer: (-2 , 0)

QID : 643 - ∆ABC is right angled at B. BD is an altitude. If AD = 50 cm and DC = 8 cm, what is the value of BD (in cm)?

∆ABC B पर समकोण है। BD उसकी ऊंचाई है। यिद AD = 50 से.मी. और DC = 8 से.मी. है, तो BD (से.मी. मŐ) का मान Ɛा है?

Options:
1) 25
2) 16
3) 20
4) 42

Correct Answer: 20

Candidate Answer: [ NOT ANSWERED ]

QID : 644 - What is the value of Cot 30o - √2 Cosec 45o =?

Cot 30o - √2 Cosec 45o =? का मान Ɛा है?

Options:
1) √3 - 2
2) (2√2 - 1)/√6
3) (√3 - 2)/2
4) (√3 - 2)/√3

Correct Answer: √3 - 2

Candidate Answer: √3 - 2

QID : 645 - ∆ XYZ is right angled at Y. If m∠Z = 60o, then

Sec X.Tan Z =?

∆ XYZ, Y पर समकोण है। यिद m∠Z = 60o है, तो

Sec X.Tan Z =?

Options:
1) 2
2) 2/3
3) 2/√3
4) √3/2

Correct Answer: 2

Candidate Answer: [ NOT ANSWERED ]
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QID : 646 - If Tan θ = 5/12, then Cosec θ = ?

यिद Tan θ = 5/12, तो Cosec θ = ?

Options:
1) 5/13
2) 12/5
3) 13/5
4) 13/12

Correct Answer: 13/5

Candidate Answer: 13/5

QID : 647 -

Which type of vehicles were sold more than trucks but less than SUVs?

टŌक से अिधक और एसयूवी (SUVs) से कम िबकने वाले वाहन कौन से थे?

Options:
1) Buses
बसŐ
2) Motorcycles
मोटरसाइिकलŐ
3) Cars
गािड़यां
4) Scooters
ˋूटसŊ
Correct Answer: Cars
गािड़यां
Candidate Answer: Cars
गािड़यां
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QID : 648 -

Ratio of number of motorcycles sold to total of cars and SUVs sold is?

िबकने वाले मोटरसाइिकलो ंका कुल गािड़यो ंऔर एसयूवी (SUVs) के बीच का अनुपात Ɛा है?

Options:
1) 1 : 1
2) 3 : 7
3) 7 : 4
4) 3 : 4

Correct Answer: 1 : 1

Candidate Answer: 1 : 1

QID : 649 -

If 27% of the trucks sold are trailers then how many trailers were sold in the year in the given territory?

यिद बेचे जाने वाले टŌको ंमŐ से 27% टŌ ेलर हो,ं तो िदए गए Ɨेũ मŐ इस वषŊ के दौरान िकतने टŌ ेलर बेचे गए थे?

Options:
1) 2000
2) 3645
3) 2700
4) 2465

Correct Answer: 2700

Candidate Answer: 2700
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QID : 650 -

If 50% of scooters were sold at Rs 50,000/unit and rest were sold at Rs 60,000/unit then the total sales of scooters in the year in the given territory was?

यिद 50% ˋूटर 50,000 Ŝ / यूिनट के अनुसार बेचे जाएं और शेष 60,000 Ŝ / यूिनट के अनुसार बेचे जाएं तो िदए गए Ɨेũ मŐ पूरे वषŊ के दौरान ˋूटरो ंकी कुल िबŢी िकतनी होगी?
Options:
1) Rs 27.5 lakhs
27.5 लाख Ŝ
2) Rs 225 crores
225 करोड़ Ŝ
3) Rs 275 crores
275 करोड़ Ŝ
4) Rs 20 lakhs
20 लाख Ŝ
Correct Answer: Rs 275 crores
275 करोड़ Ŝ
Candidate Answer: Rs 27.5 lakhs
27.5 लाख Ŝ

QID : 651 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

What brings them to the (1)/ institute is their dream to (2)/ make the world a better place. (3)/ No Error (4)

Options:
1) 1
2) 2
3) 3
4) 4

Correct Answer: 4

Candidate Answer: 2

QID : 652 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

Ravi fed it (1)/ with green (2)/ chilli but guava. (3)/ No Error (4)

Options:
1) 1
2) 2
3) 3
4) 4

Correct Answer: 3

Candidate Answer: 3

QID : 653 - In the following question, a sentence is given with a blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

It is famous for its __________ design.
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Options:
1) peculiar
2) peculiarity
3) peculiarly
4) peculiars

Correct Answer: peculiar

Candidate Answer: peculiar

QID : 654 - In the following question, a sentence is given with a blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

The sculpture also has ___________ wings jutting out from the forearms.

Options:
1) enormous
2) enormously
3) enormousness
4) enormity

Correct Answer: enormous

Candidate Answer: enormous

QID : 655 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Extrinsic

Options:
1) Integral
2) Innate
3) Connate
4) Acquired

Correct Answer: Acquired

Candidate Answer: [ NOT ANSWERED ]

QID : 656 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Corroboration

Options:
1) Rebuttal
2) Retraction
3) Veto
4) Affirmation

Correct Answer: Affirmation

Candidate Answer: [ NOT ANSWERED ]

QID : 657 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Gumption

Options:
1) Inanity
2) Acumen
3) Savvy
4) Astuteness

Correct Answer: Inanity

Candidate Answer: [ NOT ANSWERED ]

QID : 658 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Ridicule

Options:
1) Caricature
2) Contempt
3) Flattery
4) Jeer

Correct Answer: Flattery

Candidate Answer: [ NOT ANSWERED ]

QID : 659 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

Shoot the breeze
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Options:
1) Brag about oneself
2) Talk idly, chat
3) Speak obvious lies
4) Burp after having a good meal

Correct Answer: Talk idly, chat

Candidate Answer: Speak obvious lies

QID : 660 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

Under my thumb

Options:
1) A very easy task
2) To hide something
3) To pressurise someone to partner with you for a crime
4) Under my control

Correct Answer: Under my control

Candidate Answer: A very easy task

QID : 661 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no
improvement is needed, select "no improvement".

Students (are making) to work in the garden.

Options:
1) is made
2) was made
3) are made
4) No improvement

Correct Answer: are made

Candidate Answer: are made

QID : 662 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no
improvement is needed, select "no improvement".

After examining the parrot, the vet cleaned the wound, stitched and (will bandage) it.

Options:
1) bandage
2) bandaged
3) bandaging
4) No improvement

Correct Answer: bandaged

Candidate Answer: bandaged

QID : 663 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the words / sentence.

A mental condition characterized by delusions

Options:
1) Prudent
2) Lucid
3) Paranoia
4) Rational

Correct Answer: Paranoia

Candidate Answer: [ NOT ANSWERED ]

QID : 664 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the words / sentence.

Impossible or hard to read or decipher

Options:
1) Lucidity
2) Illegibility
3) Exactitute
4) Palpability

Correct Answer: Illegibility

Candidate Answer: [ NOT ANSWERED ]

QID : 665 - In the following question, four words are given out of which one word is correctly spelt. Select the correctly spelt word.
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Options:
1) etiquete
2) etequette
3) etequete
4) etiquette

Correct Answer: etiquette

Candidate Answer: etiquette

QID : 666 - In the following question, four words are given out of which one word is correctly spelt. Select the correctly spelt word.

Options:
1) unwearied
2) unvearied
3) unwearyied
4) unvearyied

Correct Answer: unwearied

Candidate Answer: [ NOT ANSWERED ]

QID : 667 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

One may believe
X-that the mind consists of
Y-can cause motions in matter
Z-ideas, and may still hold that ideas

Options:
1) XYZ
2) ZYX
3) XZY
4) ZXY

Correct Answer: XZY

Candidate Answer: ZXY

QID : 668 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

This was the greatest
X-increase in the timing of
Y-seen on record in the Arctic
Z-emergence of spring the researchers had

Options:
1) XYZ
2) ZYX
3) ZXY
4) XZY

Correct Answer: XZY

Candidate Answer: XZY

QID : 669 - In the following question, a sentence has been given in Active / Passive voice. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Passive / Active voice.

My boss is giving many assignments.

Options:
1) Many assignments are being given by my boss.
2) Many assignments is being given by my boss.
3) Giving of many assignment has been done by my boss.
4) Giving of many assignment was being done by my boss.

Correct Answer: Many assignments are being given by my boss.

Candidate Answer: Many assignments are being given by my boss.

QID : 670 - In the following question, a sentence has been given in Direct / Indirect speech. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Indirect / Direct speech.

Their mother said to the children, "Be careful!”

Options:
1) Their mother asked that the children to be careful.
2) Their mother asks the children to be careful.
3) Their mother asked the children to be careful.
4) Their mother asks that the children to be careful.

Correct Answer: Their mother asked the children to be careful.

Candidate Answer: Their mother asked the children to be careful.
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QID : 671 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

With a fair possibility of liquid water being present on at least three planets, the focus is now ____________ deciphering the climate and chemical composition of
their atmosphere. As a first measure, scientists are keen _____________ if the planets are Earth-like, by ruling ______________ the presence of hydrogen gas
enveloping them. Mass estimates already suggest that the inner six planets ______________ have a rocky composition, while the one with a low density may have a
volatile composition due to the _______________ of an ice layer or atmosphere.

the focus is now ____________ deciphering the climate

Options:
1) to
2) for
3) from
4) on

Correct Answer: on

Candidate Answer: on

QID : 672 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

With a fair possibility of liquid water being present on at least three planets, the focus is now ____________ deciphering the climate and chemical composition of
their atmosphere. As a first measure, scientists are keen _____________ if the planets are Earth-like, by ruling ______________ the presence of hydrogen gas
enveloping them. Mass estimates already suggest that the inner six planets ______________ have a rocky composition, while the one with a low density may have a
volatile composition due to the _______________ of an ice layer or atmosphere.

scientists are keen _____________ if the planets are Earth-like

Options:
1) to know
2) know
3) knowing
4) on know

Correct Answer: to know

Candidate Answer: to know

QID : 673 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

With a fair possibility of liquid water being present on at least three planets, the focus is now ____________ deciphering the climate and chemical composition of
their atmosphere. As a first measure, scientists are keen _____________ if the planets are Earth-like, by ruling ______________ the presence of hydrogen gas
enveloping them. Mass estimates already suggest that the inner six planets ______________ have a rocky composition, while the one with a low density may have a
volatile composition due to the _______________ of an ice layer or atmosphere.

by ruling ______________ the presence of hydrogen gas

Options:
1) out
2) in
3) outside
4) on

Correct Answer: out

Candidate Answer: outside

QID : 674 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

With a fair possibility of liquid water being present on at least three planets, the focus is now ____________ deciphering the climate and chemical composition of
their atmosphere. As a first measure, scientists are keen _____________ if the planets are Earth-like, by ruling ______________ the presence of hydrogen gas
enveloping them. Mass estimates already suggest that the inner six planets ______________ have a rocky composition, while the one with a low density may have a
volatile composition due to the _______________ of an ice layer or atmosphere.

the inner six planets ______________ have a rocky composition

Options:
1) may be
2) hence
3) might
4) so

Correct Answer: might

Candidate Answer: might
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QID : 675 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

With a fair possibility of liquid water being present on at least three planets, the focus is now ____________ deciphering the climate and chemical composition of
their atmosphere. As a first measure, scientists are keen _____________ if the planets are Earth-like, by ruling ______________ the presence of hydrogen gas
enveloping them. Mass estimates already suggest that the inner six planets ______________ have a rocky composition, while the one with a low density may have a
volatile composition due to the _______________ of an ice layer or atmosphere.

volatile composition due to the _______________ of an ice layer

Options:
1) present
2) presently
3) presenting
4) presence

Correct Answer: presence

Candidate Answer: presence

QID : 676 - The Food Corporation of India (FCI) purchases wheat and rice from the farmers in states where there is surplus production. The farmers are paid a pre-
announced price for their crops called as ______.

भारतीय खाȨ िनगम (एफसीआई) अिधशेष उȋादन वाले राǛो ंमŐ िकसानो ंसे गेšँ तथा चावल खरीदता है। िकसानो ंको उनकी फसल के िलए पहले से घोिषत कीमतŐ दी जाती है, िजसे ______
कहा जाता है।
Options:
1) Minimum Retail Price
Ɋूनतम खुदरा मूʞ
2) Maximum Retail Price
अिधकतम खुदरा मूʞ
3) Minimum Support Price
Ɋूनतम समिथŊत मूʞ
4) Maximum Support Price
अिधकतम समिथŊत मूʞ
Correct Answer: Minimum Support Price
Ɋूनतम समिथŊत मूʞ
Candidate Answer: Minimum Support Price
Ɋूनतम समिथŊत मूʞ

QID : 677 - Which two articles (Fundamental Rights) of Indian Constitution are not suspended even during National Emergency under Article 359?

अनुǅेद 359 के तहत रा Ō̓ ीय आपात के दौरान भी भारतीय संिवधान के कौन से दो अनुǅेद (मौिलक अिधकार) िनलंिबत नही ंहोते है?

Options:
1) Article 14 and 15
अनुǅेद 14 तथा 15
2) Article 16 and 17
अनुǅेद 16 तथा 17
3) Article 18 and 19
अनुǅेद 18 तथा 19
4) Article 20 and 21
अनुǅेद 20 तथा 21

Correct Answer: Article 20 and 21
अनुǅेद 20 तथा 21

Candidate Answer: [ NOT ANSWERED ]

QID : 678 - In India, all international treaties and agreements are made in the name of ______.

भारत मŐ सभी अंतराŊ Ō̓ ीय संिधयाँ तथा समझौते______ के नाम पर होते है।
Options:
1) The Prime Minister of India
भारत के Ůधानमंũी
2) The President of India
भारत के रा Ō̓ पित
3) The Chief Justice of India
भारत के मुƥ Ɋायाधीश
4) The Foreign Minister of India
भारत के िवदेश मंũी
Correct Answer: The President of India
भारत के रा Ō̓ पित
Candidate Answer: The President of India
भारत के रा Ō̓ पित
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QID : 679 - Which of the following was a major incident to happen in India in year 1919?

वषŊ 1919 मŐ भारत मŐ िनɻिलİखत मŐ से कौन सी Ůमुख घटना घिटत Šई थी?
Options:
1) Dandi March
दांडी माचŊ
2) Jallianwala Bagh Massacre
जिलयाँवाला बाग हȑाकांड
3) Non Cooperation Movement
असहयोग आȽोलन
4) Swadeshi Movement
ˢदेशी आȽोलन
Correct Answer: Jallianwala Bagh Massacre
जिलयाँवाला बाग हȑाकांड
Candidate Answer: Jallianwala Bagh Massacre
जिलयाँवाला बाग हȑाकांड

QID : 680 - After which year, the struggle against British gradually became a mass movement?

िकस वषŊ के पʮात अंŤेजो के िवŜȠ चल रहा संघषŊ धीरे धीरे एक जन आंदोलन मŐ पįरवितŊत हो गया था?
Options:
1) 1910
2) 1915
3) 1919
4) 1923

Correct Answer: 1919

Candidate Answer: 1919

QID : 681 - Who founded 'Tattavabodhini Sabha'?

' तȕबोिधनी सभा' की ̾थापना िकसने की?
Options:
1) Rabindranath Tagore
रबीȾनाथ टैगोर
2) Debendranath Tagore
देवेȾनाथ टैगोर
3) Sarojini Naidu
सरोिजनी नायडू
4) Mahatma Gandhi
महाȏा गांधी
Correct Answer: Debendranath Tagore
देवेȾनाथ टैगोर
Candidate Answer: [ NOT ANSWERED ]

QID : 682 - Which meridian or longitude is also termed as the Standard Meridian of India?

कौन सा मȯा˥ या देशांतर को भारत का मानक मेįरिडयन भी कहा जाता है?

Options:
1) 27°30’E
27°30’ पू.
2) 27°30’W
27°30’ प.
3) 82°30’W
82°30’ प.
4) 82°30’E
82°30’ पू.

Correct Answer: 82°30’E
82°30’ पू.

Candidate Answer: 82°30’E
82°30’ पू.

QID : 683 - The northern plains of India are formed of ______ deposits.

भारत के उȅरी मैदान ______ के एकिũत होने से बने हœ।
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Options:
1) Coral
मंूगा
2) Alluvial
कछार
3) Silt
गाद
4) Volcanic
ǜालामुखीय
Correct Answer: Alluvial
कछार
Candidate Answer: Alluvial
कछार

QID : 684 - Which is one of the distinct features of the peninsular plateau?

ŮायȪीपीय पठार की िविशʼ िवशेषताओ ंमŐ से कौन सी एक है?

Options:
1) Black soil area
काली िमǥी का Ɨेũ
2) Laterite soil area
लेटराइट िमǥी का Ɨेũ
3) Red soil area
लाल िमǥी का Ɨेũ
4) Alluvial soil area
कछार की िमǥी का Ɨेũ
Correct Answer: Black soil area
काली िमǥी का Ɨेũ
Candidate Answer: Alluvial soil area
कछार की िमǥी का Ɨेũ

QID : 685 - Which river marks the easternmost boundary of the Himalayas?

िहमालय की पूवŎ सीमा को कौन सी नदी िचि˥त करती है?

Options:
1) Ganga
गंगा
2) Brahmaputra
Ű˦पुũ
3) Kosi
कोसी
4) Gandak
गंडक
Correct Answer: Brahmaputra
Ű˦पुũ
Candidate Answer: Brahmaputra
Ű˦पुũ

QID : 686 - Which state of India is the largest producer of cotton?

भारत का कौन सा राǛ कपास का सबसे बड़ा उȋादक है?

Options:
1) Gujarat
गुजरात
2) Rajasthan
राज̾थान
3) Madhya Pradesh
मȯ Ůदेश
4) Goa
गोवा
Correct Answer: Gujarat
गुजरात
Candidate Answer: Madhya Pradesh
मȯ Ůदेश

QID : 687 - Air moves from the high-pressure area over the southern Indian Ocean in a south-easterly direction and turn right towards low pressure areas over the
Indian subcontinent. These we know as the ______ winds.

हवा दिƗण-पूवŊ महासागर के दिƗण-पूवŊ िदशा मŐ उǄ दबाव Ɨेũ से िनकलती है और भारतीय उपमहाȪीप मŐ कम दबाव वाले Ɨेũो ंकी ओर मुड़ती है। हम इɎे ______ हवाओ ंके ŝप मŐ जानते
है।
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Options:
1) Easterly
पूवŊ की ओर
2) Westerly
पिʮम की ओर
3) South-West Monsoon
दिƗण-पिʮम मानसून
4) Trade
ʩापार
Correct Answer: South-West Monsoon
दिƗण-पिʮम मानसून
Candidate Answer: [ NOT ANSWERED ]

QID : 688 - The marked price of an article is 50% more than its cost price. If 20% discount is given, then what will be the profit percentage?

एक वˑु का अंिकत मूʞ उसके Ţय मूʞ से 50% अिधक है। यिद 20% की छूट दी जाती है, तो लाभ Ůितशत Ɛा होगा?
Options:
1) 10
2) 30
3) 20
4) 40

Correct Answer: 20

Candidate Answer: 20

QID : 689 - Which of the following is/are contact force / forces?
I. Friction force
II. Magnetic force
III. Gravitation force

िनɻिलİखत मŐ से कौन सा / से संपकŊ  बल है / हœ?
I. घषŊण बल
II. चुɾकीय बल
III. गुŜȕाकषŊण बल
Options:
1) Only I
केवल I
2) Only II
केवल II
3) Only III
केवल III
4) Both II and III
II तथा III दोनों
Correct Answer: Only I
केवल I

Candidate Answer: Only I
केवल I

QID : 690 - Which multicellular Eukaryotes, have cell wall and they do not perform photosynthesis?

कौन से बŠकोिशकीय यूकैįरयोटी है िजनमŐ कोिशका िभिȅ होती है परंतु वे Ůकाश संʶेषण नही ंकरते?

Options:
1) Fungi
फ़ंजाई
2) Plantae
ɘांटी
3) Animalia
एिनमेिलया
4) Protista
Ůोिटːा
Correct Answer: Fungi
फ़ंजाई
Candidate Answer: [ NOT ANSWERED ]

QID : 691 - Which among the following is an example of a saturated carbon compound?

िनɻिलİखत मŐ से कौन सा एक संतृɑ यौिगक काबŊन का उदाहरण है?
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Options:
1) Ethane
एथेन
2) Ethene
ईथेन
3) Ethyne
ईथाइन
4) All options are correct
सभी िवकʙ सही हœ
Correct Answer: Ethane
एथेन
Candidate Answer: [ NOT ANSWERED ]

QID : 692 - Ministry of Power has launched which scheme with an aim at providing last mile electricity connectivity to all rural and urban households?

सभी Ťामीण तथा शहरी पįरवारो ंको अंितम मील िवȯुत संयोजकता उपलɩ कराने के उȞेʴ से ऊजाŊ मंũालय ने िकस योजना का शुभांरभ िकया है?

Options:
1) Shagun
शगुन
2) Sahaj
सहज
3) Saubhagya
सौभाƶ
4) Saral
सरल
Correct Answer: Saubhagya
सौभाƶ
Candidate Answer: Saral
सरल

QID : 693 - Which is the 152 million year old fossil discovered for the first time in India (Kutch desert region of Gujrat)?

िकस 152 िमिलयन वषŊ पुराने जीवाʳ की खोज भारत मŐ (गुजरात के कǅ रेिगˑान Ɨेũ) पहली बार की गई है?

Options:
1) Ichthyosaur
मीनसरीसृप
2) Rajasaur
राजसृप
3) Masiakasaur
मसीआकसृप
4) Barapasaur
बारापासृप
Correct Answer: Ichthyosaur
मीनसरीसृप
Candidate Answer: [ NOT ANSWERED ]

QID : 694 - At which place is the Union Ministry of Youth Affairs and Sports going to establish National Sports Museum?

युवा कायŊŢम तथा खेल मंũालय िकस ̾थान पर रा Ō̓ ीय खेल संŤहालय की ̾थापना करेगा?
Options:
1) Barabati Stadium, Odisha
बाराबाती ːेिडयम, ओिडशा
2) M. Chinnaswamy Stadium, Tamil Nadu
एम. िचɄाˢामी ːेिडयम, तिमलनाडु
3) Nehru Stadium, Madhya Pradesh
नेहŝ ːेिडयम, मȯ Ůदेश
4) Jawaharlal Nehru Stadium, Delhi
जवाहरलाल नेहŝ ːेिडयम, िदʟी
Correct Answer: Jawaharlal Nehru Stadium, Delhi
जवाहरलाल नेहŝ ːेिडयम, िदʟी
Candidate Answer: [ NOT ANSWERED ]

QID : 695 - The Union Cabinet has approved MoU between India and ______ on cooperation on Police Training.

िसतɾर 2017 मŐ, कŐ ūीय मंिũमंडल ने पुिलस ŮिशƗण पर सहयोग के संबंध मŐ भारत तथा ______ के बीच समझौता ǒापन को मंजूरी दी है।
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Options:
1) Afghanistan
अफगािनˑान
2) Sri Lanka
ŵीलंका
3) Bangladesh
बांƸादेश
4) Nepal
नेपाल
Correct Answer: Afghanistan
अफगािनˑान
Candidate Answer: [ NOT ANSWERED ]

QID : 696 - Gauri Lankesh is the first Indian Journalist to win which one of the following awards?

गौरी लंकेश, िनɻिलİखत मŐ से िकस पुरˋार को जीतने वाली Ůथम भारतीय पũकार है?

Options:
1) Pulitzer
पुिल̝ज़र
2) Anna Politkovskaya
एना पोिलटकोवˋाया
3) Livingston
िलिवंगːोन
4) Golden Pear
गोʒन िपयर
Correct Answer: Anna Politkovskaya
एना पोिलटकोवˋाया
Candidate Answer: [ NOT ANSWERED ]

QID : 697 - The largest commodity bourse Multi-Commodity Exchange of India Ltd (MCX) launched India’s first commodity options in ______.

सबसे बड़ा कमोिडटी बाजार मʐी कमोिडटी एƛचŐज ऑफ इंिडया िलिमटेड (एमसीएƛ) ने भारत के पहले कमोिडटी िवकʙ को ______ मŐ आरंभ िकया।
Options:
1) Gold
सोना
2) Silver
चाँदी
3) Diamonds
हीरे
4) Platinum
ɘेिटनम
Correct Answer: Gold
सोना
Candidate Answer: [ NOT ANSWERED ]

QID : 698 - Which country has officially opened its first overseas military base in the ‘Horn of Africa’, Djibouti?

िकस देश ने अपना पहला आिधकाįरक िवदेशी सैɊ अǭा ‘हॉनŊ ऑफ अůीका’, िजबूती मŐ ̾थािपत िकया है?

Options:
1) China
चीन
2) Kenya
केɊा
3) Nigeria
नाइजीįरया
4) Tunisia
टयूनीिशया
Correct Answer: China
चीन
Candidate Answer: [ NOT ANSWERED ]

QID : 699 - Where was The Global Wildlife Programme (GWP) Conference held recently?

Ƹोबल वाइʒलाइफ ŮोŤाम (जीडɲूपी) सʃेलन हाल ही मŐ कहाँ आयोिजत Šआ था?
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Options:
1) Ernakulum
एनाŊकुलम
2) Pune
पुणे
3) Chandigarh
चंडीगढ़
4) New Delhi
नई िदʟी
Correct Answer: New Delhi
नई िदʟी
Candidate Answer: [ NOT ANSWERED ]

QID : 700 - Rajnish Kumar has been appointed as new chairman of which organisation?

रजनीश कुमार को िकस संगठन का नया अȯƗ िनयुƅ िकया गया है?

Options:
1) Securities and Exchange Board of India (SEBI)
भारतीय Ůितभूित तथा िविनमय बोडŊ (सेबी)
2) National Bank for Agriculture and Rural Development (NABARD)
रा Ō̓ ीय कृिष तथा Ťामीण िवकास बœक (नाबाडŊ)
3) Reserve Bank of India (RBI)
भारतीय įरज़वŊ बœक (आरबीआई)
4) State Bank of India (SBI)
भारतीय ːेट बœक (एसबीआई)
Correct Answer: State Bank of India (SBI)
भारतीय ːेट बœक (एसबीआई)
Candidate Answer: State Bank of India (SBI)
भारतीय ːेट बœक (एसबीआई)

QID : 701 - Parsec is a unit of which physical quantity?

पारसेक िकस भौितक माũा की इकाई है?

Options:
1) Mass
ūʩमान
2) Length
लंबाई
3) Frequency
आवृिȅ
4) Area
Ɨेũफल
Correct Answer: Length
लंबाई
Candidate Answer: Length
लंबाई

QID : 702 - If 'x' is displacement, time taken 't', initial velocity 'u', final velocity 'v' and acceleration 'a' then which of the following equations is true?

यिद 'x' िव̾थापन मŐ लगने वाला समय 't' है, Ůारंिभक वेग 'u' है, अंितम वेग 'v' है तथा ȕरण a है, तो िनɻिलİखत मŐ से कौन सा समीकरण सही है?

Options:
1) u = x/t + (at)/2
2) u = xt - 2a/t
3) u = x/t - (at)/2
4) u = xt + 2a/t

Correct Answer: u = x/t - (at)/2

Candidate Answer: [ NOT ANSWERED ]

QID : 703 - What was the flaw in Aristotle's Law of motion?

अरˑू के गित के िनयम मŐ Ɛा दोष था?
Options:
1) He assumed that energy is conserved.
उɎोनें माना िक ऊजाŊ का संरƗण होता है।
2) He assumed that momentum is conserved.
उɎोनें माना िक संवेग का संरƗण होता है।
3) He did not take into account friction.
उɎोनें घषŊण पर िवचार नही ंिकया।
4) He assumed that velocity can never be negative.
उɎोनें माना िक वेग कभी भी ऋणाȏक नही ंहो सकता।
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Correct Answer: He did not take into account friction.
उɎोनें घषŊण पर िवचार नही ंिकया।
Candidate Answer: He assumed that velocity can never be negative.
उɎोनें माना िक वेग कभी भी ऋणाȏक नही ंहो सकता।

QID : 704 - If a projectile is thrown with velocity 'v' and making an angle 'θ' with the x-axis then the time taken for flight is given by which of the following formula?

यिद कोई ŮƗेɗ 'v' वेग से Ɨैितज x- अƗ से 'θ' कोण बनाते Šए ŮƗेिपत िकया गया तो ŮƗेɗ को अिधकतम ऊंचाई Ůाɑ करने मŐ लगने वाले समय को िनɻिलİखत िकस सूũ से ǒात िकया जा
सकता है?

Options:
1) t = 2v2 sinθ /g
2) t = 2v sinθ /g
3) t = 2v2 sin2θ /g
4) t = 2v sin2θ /g

Correct Answer: t = 2v sinθ /g

Candidate Answer: t = 2v2 sin2θ /g

QID : 705 - What is the moment of inertia of a hollow cylinder of mass 'M' and radius 'R' about the axis of the cylinder?

'M' ūʩमान और 'R' िũǛा वाले खोखले बेलन का बेलन के अƗ के पįरत: जडȕ आघूणŊ Ɛा होगा?
Options:
1) MR2

2) MR2/2
3) MR2/3
4) MR2/4

Correct Answer: MR2

Candidate Answer: MR2/2

QID : 706 - Which of the following is a measure of inertia in linear motion?

िनɻिलİखत मŐ से Ɛा सरल रेखीय गित मŐ जडȕ का माप है?

Options:
1) The product of mass and velocity
ūʩमान और वेग का गुणनफल
2) The product of mass and displacement
ūʩमान और िव̾थापन का गुणनफल
3) acceleration
ȕरण
4) Mass
ūʩमान
Correct Answer: Mass
ūʩमान
Candidate Answer: The product of mass and displacement
ūʩमान और िव̾थापन का गुणनफल

QID : 707 - What is the unit of gravitational potential?

गुŜȕीय िवभव की इकाई Ɛा है?

Options:
1) Nkg/m
2) Nm/kg
3) kgm/s
4) kgm/s2

Correct Answer: Nm/kg

Candidate Answer: [ NOT ANSWERED ]

QID : 708 - What is shear modulus equal to?

अपŝपण गुणांक िकसके बराबर होता है?

Options:
1) FA/Ɵ
2) F/(ƟA)
3) A/(FƟ)
4) FƟ/A

Correct Answer: F/(ƟA)

Candidate Answer: [ NOT ANSWERED ]
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QID : 709 - Which dimensions match with the unit Pa?

Pa इकाई की िवमा िकससे िमलती है?

Options:
1) [M1L1T-2]

2) [M1L-1T-2]

3) [M1L-1T2]

4) [M1L1T2]

Correct Answer: [M1L-1T-2]

Candidate Answer: [ NOT ANSWERED ]

QID : 710 - What is the pressure on a submarine, if it is 10 m below the surface of water?

पानी के पृʿ से 10 मीटर की गहराई पर पनडुɬी पर िकतना दबाव होगा?
Options:
1) 2000 Pa
2) 200 torr
3) 200 bars
4) 2 atm

Correct Answer: 2 atm

Candidate Answer: [ NOT ANSWERED ]

QID : 711 - Which energy of the liquid is not taken into consideration In Bernoulli's theorem?

बनूŊली के Ůमेय मŐ तरल की िकस ऊजाŊ को नही ंिलया गया है?

Options:
1) kinetic
गितज
2) potential
İ̾थितज
3) elastic
Ůȑा̾थ (इलैİːक
4) mechanical
यांिũक
Correct Answer: elastic
Ůȑा̾थ (इलैİːक
Candidate Answer: [ NOT ANSWERED ]

QID : 712 - What is the formula which gives viscous drag force as F = – 6πηav called?

सूũ F = – 6πηav ʴान कषŊण बल को ŮदिशŊत करता है, उससे Ɛा कहा जाता है?

Options:
1) Torricelli’s law
टोįरसेली का िनयम
2) Pascal's Law
पाˋल का िनयम
3) Stokes' Law
ːोक का िनयम
4) Bernoulli's Law
बनूŊली का िनयम
Correct Answer: Stokes' Law
ːोक का िनयम
Candidate Answer: Stokes' Law
ːोक का िनयम

QID : 713 - If 'R' is radius of a particle in circular motion and 'ν' represents frequency then what is its centripetal acceleration?

यिद R िũǛा का कोई कण वृȅीय मागŊ मŐ गित कर रहा है और 'v' आवृिȅ को ŮदिशŊत करता है तो इसका अिभकेȾ (सेİȴŌ िपटल)ȕरण िकसके बराबर होगा?
Options:
1) 2π2ν2R
2) π2ν2R
3) 4π2ν2R
4) 2πν2R

Correct Answer: 4π2ν2R

Candidate Answer: [ NOT ANSWERED ]
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QID : 714 - What is the escape speed from the surface of the Earth equal to?

पृțी के पृʿ से पलायन चाल िकसके बराबर होती है?

Options:
1) 11.2 m/s
11.2 मी./से.
2) 11.2 km/s
11.2 िक.मी./से.
3) 22.1 km/s
22.1 िक.मी./से.
4) 22.1 m/s
22.1 मी./से.

Correct Answer: 11.2 km/s
11.2 िक.मी./से.

Candidate Answer: 11.2 km/s
11.2 िक.मी./से.

QID : 715 - If a particle starts from rest and accelerates at the rate of a m/s2 then what is the distance (in meters) travelled in the 2nd second?

यिद कोई िनकाय िवराम से Ůारंभ करता है और मीटर / वगŊ सेकंड की दर से ȕįरत होता है, तो यह दूसरे सेकǷ मŐ िकतनी दूरी तय करेगा (मीटर मŐ)?
Options:
1) 2a
2) 4a
3) 5a/2
4) 3a/2

Correct Answer: 3a/2

Candidate Answer: 4a

QID : 716 - If a cannon ball is fired at an angle of 30o with the horizontal at 20 m/s, what will be its maximum height (in m)? (use g = 10 m/s2)

यिद तोप का गोला Ɨैितज से 30o का कोण बनाते Šए 20 मीटर / सेकंड के वेग से फŐ का जाए तो इसकी अिधकतम ऊंचाई (मीटर मŐ) Ɛा होगी? (g = 10 मीटर / वगŊ सेकंड उपयोग करŐ )
Options:
1) 5
2) 10
3) 15
4) 20

Correct Answer: 5

Candidate Answer: [ NOT ANSWERED ]

QID : 717 - Substances which can be stretched to cause large _____________ are called elastomers.

वे पदाथŊ िजɎŐ तिनत करके अȑिधक ____ पैदा की जा सकती है, Ůȑ̾थालक कहलाते हœ।
Options:
1) stress
Ůितबल
2) strain
िवकृित
3) force
बल
4) modulus
गुणांक
Correct Answer: strain
िवकृित
Candidate Answer: [ NOT ANSWERED ]

QID : 718 - What is the moment of inertia of a ring of mass 'M' and radius 'R' about a tangent to the circle of the ring?

'M' ūʩमान और 'R' िũǛा वाले वलय का इसकी ˙शŊरेखा के पįरत: जडȕ आघूणŊ Ɛा होगा?
Options:
1) 5MR2/2
2) MR2/2
3) 3MR2/2
4) 7MR2/2

Correct Answer: 3MR2/2

Candidate Answer: 5MR2/2
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QID : 719 - What would be the acceleration due to gravity (in m/s2) of a planet of radius 6000 km, if escape velocity from it is 12 km/s?

कोई Ťह िजसकी िũǛा 6000 िकलोमीटर है, का गुŜȕाकषŊण के कारण ȕरण (मीटर / वगŊ सेकंड) िकतना होगा यिद पलायन चाल 12 िकलोमीटर / सेकंड है?

Options:
1) 14
2) 9
3) 12
4) 6

Correct Answer: 12

Candidate Answer: 12

QID : 720 - If water is flowing through a pipe of diameter 1 cm at 100 m/s, then find its viscosity (in Pa.s) if the Reynolds number of the flow is 1000.

यिद 1 से.मी. ʩास वाले िकसी पाइप मŐ पानी 100 मीटर / सेकंड के वेग से बह रहा है तो इसकी ʴानता (Pa.s मŐ) ǒात करŐ  यिद Ůवाह की रेनʒ्स संƥा 1000 है?

Options:
1) 10
2) 0.1
3) 100
4) 1

Correct Answer: 1

Candidate Answer: [ NOT ANSWERED ]

QID : 721 -  What is the SI unit of temperature?

ताप का एसआई इकाई Ɛा है?

Options:
1) K
2) C
3) F
4) Q

Correct Answer: K

Candidate Answer: K

QID : 722 - Which variable is held constant in Charles's Law?

चाʤŊ के िनयम मŐ िकस चर को िनयत रखा जाता है?

Options:
1) Temperature
ताप
2) Volume
आयतन
3) Heat
ऊˆा
4) Pressure
दाब
Correct Answer: Pressure
दाब
Candidate Answer: Pressure
दाब

QID : 723 - The value of universal gas constant (R) = _______ J mol-1 K-1

सावŊिũक गैस िनयतांक (R) का मान = ______ J mol-1 K-1 होता है।
Options:
1) 2.73
2) 8.31
3) 1.033
4) 6.67

Correct Answer: 8.31

Candidate Answer: 8.31

QID : 724 - What is the amount of heat absorbed or rejected by a substance of 'n' moles and molar specific heat capacity 'C' when it undergoes a temperature
change 'ΔT' equal to?

कोई पदाथŊ िजसकी मोलर िविशʼ ऊˆा धाįरता 'C' है, के 'n' मोल अपने ताप मŐ 'ΔT' पįरवतŊन करने के िलए ऊˆा की िजतनी माũा अवशोिषत या बिहʺृत करता है वह िकसके बराबर होती है?

Options:
1) Cn/ΔT
2) CnΔT
3) CΔT/n
4) nΔT/C
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Correct Answer: CnΔT

Candidate Answer: [ NOT ANSWERED ]

QID : 725 - The equation ΔQ = ΔU + ΔW is known as ____________ Law of Thermodynamics.

समीकरण ΔQ = ΔU + ΔW को उˆागितकी का ____ िनयम कहा जाता है।
Options:
1) Zeroth Law
शूɊ कोिट का िनयम
2) Second Law
िȪतीय िनयम
3) Third Law
तृतीय िनयम
4) First Law
Ůथम िनयम
Correct Answer: First Law
Ůथम िनयम
Candidate Answer: [ NOT ANSWERED ]

QID : 726 - In isochoric processes,  __________ is constant.

समआयतिनक ŮŢम मŐ ____ İ̾थर रहता है।
Options:
1) volume
आयतन
2) mass
ūʩमान
3) pressure
दाब
4) temperature
ताप
Correct Answer: volume
आयतन
Candidate Answer: volume
आयतन

QID : 727 - For a refrigerator, what is the heat released to the hot reservoir equal to? ('α' is the coefficient of performance of a refrigerator, 'Q2' is the heat
extracted from the cold reservoir)

िकसी Ůशीतक के िलए गमŊ ऊˆाशय को मुƅ ऊˆा िकसके बराबर होती है? (α, Ůशीतक का िन˃ादन गुणांक, Q2 ठंडे ऊˆाशय से अवशोिषत ऊˆा है)

Options:
1) Q2/(1+α)
2) Q2(1+α)/α
3) αQ2/(1+α)
4) (1+α)/Q2

Correct Answer: Q2(1+α)/α

Candidate Answer: [ NOT ANSWERED ]

QID : 728 - Which of the following is an intensive variable?

िनɻिलİखत मŐ से कौन सा एक गहन चर है?

Options:
1) Internal energy
आंतįरक ऊजाŊ
2) Volume
आयतन
3) Mass
ūʩमान
4) Temperature
ताप
Correct Answer: Temperature
ताप
Candidate Answer: [ NOT ANSWERED ]

QID : 729 - If a diatomic molecule is not rigid but has in addition a vibrational mode then what is its 'Cv' equal to? ('Cv' is molar specific heat at constant volume)

यिद िȪपरमाणुक अणु ̊ढ़ नही ंहै वरन इसमŐ एक अितįरƅ कंपन ŝप भी सİʃिलत है तो इसका 'Cv' िकसके बराबर होगा? ('Cv', िनयत आयतन पर मोलर िविशʼ ऊˆा है)
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Options:
1) 5R/2
2) 3R/2
3) 7R/2
4) 9R/2

Correct Answer: 7R/2

Candidate Answer: [ NOT ANSWERED ]

QID : 730 - The mass of __________ of any gas is equal to its molecular weight in grams at Standard Temperature and Pressure (S.T.P).

िकसी गैस के ____ का समान ताप व दाब (एस.टी.पी.) पर ūʩमान उस गैस के Ťाम मŐ ʩƅ अणु ūʩमान के बराबर है।
Options:
1) 22.4 ml
2) 22.4 cm3

3) 22400 dm3

4) 22400 ml

Correct Answer: 22400 ml

Candidate Answer: [ NOT ANSWERED ]

QID : 731 - If a molecule of mass 'm' and with x-component of velocity 'vx' collides elastically with a wall of a container then the momentum imparted to the wall in
the collision is _____________.

यिद 'm' ūʩमान का कोई अणु वेग के x-घटक 'vx' के साथ धारक की दीवार के साथ Ůȑा̾थ संघǥ करता है तो दीवार पर लगने वाला संवेग _____ होता है।

Options:
1) -2mvx
2) -mvx
3) 2mvx
4) mvx

Correct Answer: 2mvx

Candidate Answer: mvx

QID : 732 - If the gas particles are of diameter 'd', average speed 'v', number of particles per unit volume 'n', then what is the term "∏d2vt" represents?

यिद गैस के कणो ंका ʩास 'd', औसत वेग 'v' , 'n' Ůित इकाई आयतन मŐ कणो ंकी संƥा है तो "∏d2vt" िकसको ŮदिशŊत करता है?

Options:
1) the rate of collisions in time 't'
t समय मŐ होने वाले संघǥ की दर
2) the time between two successive collisions on average
दो Ţमागत संघǥ के बीच का औसत समय
3) the volume a particle sweeps in time 't'
समय t मŐ अȽर आने वाले कण का आयतन
4) the average distance between two successive collisions also called the mean free path
दो Ţिमक संघǥ के बीच की औसत दूरी िजसे माȯ मुƅ पथ भी कहा जाता है
Correct Answer: the volume a particle sweeps in time 't'
समय t मŐ अȽर आने वाले कण का आयतन
Candidate Answer: [ NOT ANSWERED ]

QID : 733 - If a meter long brass scale expands by 0.45mm then by how much must be the temperature (in oC) have increased? (Coefficient of linear expansion for
brass is 1.8 x 10-5 K-1)

यिद एक मीटर लɾी पीतल की ˋेल (पैमाना) की लंबाई मŐ 0.45 िमलीमीटर का िवˑार होता है तो तापमान (िडŤी सेİʤयस मŐ) िकतना बढ़ाया गया? (पीतल का रैİखक Ůसार गुणांक 1.8 x 10-5

K-1 है)

Options:
1) 40
2) 50
3) 80
4) 25

Correct Answer: 25

Candidate Answer: [ NOT ANSWERED ]

QID : 734 - For a polyatomic gas which has 'f' vibrational modes, what is 'Cv' equal to? ('Cv' is molar specific heat at constant volume)

बŠपरमाणुक गैसो ंके िलए िजसमŐ कुछ f संƥा के कंपन हो, 'Cv' िकसके बराबर होता है? ('Cv' िनयत आयतन पर मोलर िविशʼ ऊˆा है)

Options:
1) (4 + f)R
2) (5 + f)R
3) (3 + f)R
4) (2 + f)R
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Correct Answer: (3 + f)R

Candidate Answer: [ NOT ANSWERED ]

QID : 735 - What is the ratio of Cp/Cv for a monoatomic gas? (Cp and Cv are molar specific heats at constant pressure and constant volume respectively)

िकसी एकपरमाणुक गैस के िलए Cp/Cv का अनुपात Ɛा होता है? (Cp और Cv Ţमश: िनयत दाब और िनयत ताप पर मोलर िविशʼ ऊˆा है)

Options:
1) 3/5
2) 5/7
3) 7/5
4) 5/3

Correct Answer: 5/3

Candidate Answer: [ NOT ANSWERED ]

QID : 736 - What is 0oC equal to?

0o सेİʤयस िकसके बराबर होता है?

Options:
1) -32o F
2) -273.15o C
3) 32o F
4) 273.15o C

Correct Answer: 32o F

Candidate Answer: 32o F

QID : 737 - If a glass window pane weighing 10 kg is exposed to the sun and its temperature rises from 20°C to 70°C, then how much heat (in kJ) it must have
absorbed? [Specific heat capacity of glass is 840 J/(kgK)]

यिद कांच की एक İखड़की का फलक िजसका वज़न 10 िक.Ťा. है, को धूप मŐ रखा गया और इसका तापमान 20° सेİʤयस से बढ़कर 70° सेİʤयस हो गया तो िकतनी ऊˆा (KJ मŐ) मŐ
अवशोिषत Šई? [कांच की िविशʼ ऊˆा धाįरता 840 J/(kgK) है]

Options:
1) 4200

2) 840

3) 420

4) 8400

Correct Answer: 420

Candidate Answer: 420

QID : 738 - If ratio of root mean square (r.m.s.) velocities of the molecules of two gases A (molecular mass 18) and B (molecular mass 2) is 1:6, and temperature
of B is 800K then what is temperature of A (in K)?

यिद दो गैसो ंA (आणिवक ūʩमान 18) और B (आणिवक ūʩमान 2) की वगŊ माȯ मूल(आर.एम. एस.) चालो ंका अनुपात 1:6 है और B का तापमान 800K है तो A का तापमान (K मŐ) Ɛा
होगा?
Options:
1) 200
2) 400
3) 100
4) 300

Correct Answer: 200

Candidate Answer: [ NOT ANSWERED ]

QID : 739 - If the pressure on an enclosed gas is doubled and its temperature rises from 27oC to 127oC then its volume will ________________.

यिद समावृत गैस की िनिʮत माũा के दाब को दो गुना िकया जाए और तापमान को 27o सेİʤयस से 127o सेİʤयस तक बढ़ाया जाए तो इसका आयतन _____ हो जाएगा।
Options:
1) increase by 1/3rd
1/3 बढ़ जाएगा
2) decrease by 1/3rd
1/3 घट जाएगा
3) decrease by 2/3rd
2/3 घट जाएगा
4) increase by 2/3rd
2/3 बढ़ जाएगा
Correct Answer: decrease by 1/3rd
1/3 घट जाएगा
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Candidate Answer: decrease by 2/3rd
2/3 घट जाएगा

QID : 740 - An ideal refrigerator is to maintain ice-cream kept inside at -3oC. If room temperature is 27oC, calculate its coefficient of performance.

आइसŢीम रखने के िलए एक उपयुƅ Ůशीतक के तापमान को -3o सेİʤयस पर रखा गया। यिद कमरे का तापमान 27o सेİʤयस हो तो उसका िन˃ादन गुणांक ǒात करŐ?
Options:
1) 7
2) 6
3) 3
4) 9

Correct Answer: 9

Candidate Answer: [ NOT ANSWERED ]

QID : 741 - If the argument 'ωt' of the periodic function f(t) = A cos(ωt + φ) is increased by integral multiple of ______ radians, the value of the function remains
the same.

यिद आवतŎ फलन f(t) = A cos(ωt + φ) के कोनांक ωt मŐ _____रेिडयन के पूणाōक गुणज की वृİȠ कर दी जाए तो फलन का मान वही रहता है।
Options:
1) π
2) 2φ
3) φ
4) 2π

Correct Answer: 2π

Candidate Answer: [ NOT ANSWERED ]

QID : 742 - What is the time period of f(t) = cos(2ωt + π/4)?

f(t) = cos(2ωt + π/4) का आवतŊकाल िकसके बराबर होता है?

Options:
1) 2π/ω
2) 4π/ω
3) (π/4)ω
4) π/ω

Correct Answer: π/ω

Candidate Answer: 4π/ω

QID : 743 - The acceleration of a particle performing simple harmonic motion is ____________ whose displacement is f(t) = A cos(ωt + φ).

सरल आवतŊ गित कर रहे कण का ȕरण ____ होता है िजसका िव̾थापन f(t) = A cos(ωt + φ) होता है।
Options:
1) –ω2A cos(ωt + φ)

2) –ωA cos(ωt + φ)

3) –ω2A sin(ωt + φ)

4) –ωA sin(ωt + φ)

Correct Answer: –ω2A cos(ωt + φ)

Candidate Answer: –ω2A cos(ωt + φ)

QID : 744 - The period of kinetic energy of a particle performing simple harmonic motion is _________. ('T' is period of the displacement of the simple harmonic
motion)

सरल आवतŊ गित कर रहे कण की गितज ऊजाŊ का आवतŊकाल ____ होता है। ('T' सरल आवतŊ गित के िव̾थापन का आवतŊकाल है)

Options:
1) T
2) 2T
3) T/4
4) T/2

Correct Answer: T/2

Candidate Answer: [ NOT ANSWERED ]

QID : 745 - The mechanical energy 'E' of the damped oscillator is equal to ___________. ('k' is spring constant, 'b' is damping constant and m is mass of the
particle)

अवमंिदत दोलक की यांिũक ऊजाŊ 'E' ______ के बराबर होती है। ('k' कमानी िनयतांक, 'b' अवमंदन िनयतांक और 'm' कण का ūʩमान है)
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Options:
1) (1/2) kA e-bt/m

2) (3/2) kA2 e-bt/m

3) (3/2) kA e-bt/m

4) (1/2) kA2 e-bt/m

Correct Answer: (1/2) kA2 e-bt/m

Candidate Answer: [ NOT ANSWERED ]

QID : 746 - Mechanical waves are governed by _____________ Laws.

यांिũक तरंगे ____ के िनयमो ंȪारा संयिमत होती हœ।
Options:
1) Newton's
Ɋूटन
2) Faraday's
फैराडे
3) Hertz'
हट्Ŋज़
4) Planck's
ɘांक
Correct Answer: Newton's
Ɋूटन
Candidate Answer: Hertz'
हट्Ŋज़

QID : 747 - The speed of a longitudinal wave in a solid bar is given by v = √(X/ρ), where 'ρ' is density of the medium. What is the unknown term 'X'?

ठोस छड मŐ अनुदैƽŊ तरंग की चाल v = √(X/ρ) Ȫारा ʩƅ की जाती है जहां ρ माȯम का घनȕ है। अǒात रािश X Ɛा है?

Options:
1) Young's Modulus of the medium
माȯम का यंग गुणांक
2) Bulk Modulus of the medium
माȯम का बʋ गुणांक
3) linear mass density
रैİखक ūʩमान घनȕ
4) Density of the gas
गैस का घनȕ
Correct Answer: Young's Modulus of the medium
माȯम का यंग गुणांक
Candidate Answer: [ NOT ANSWERED ]

QID : 748 - On reflection from an open boundary, a travelling wave in a string undergoes a phase change of ________ radians.

िकसी डोरी मŐ खुली पįरसीमा मŐ तरंग के परावतŊन मŐ कला मŐ _____ रेिडयन का पįरवतŊन होता है
Options:
1) π
2) 2π
3) π/2
4) 0

Correct Answer: 0

Candidate Answer: [ NOT ANSWERED ]

QID : 749 - For a stationary wave, if frequency is equal to ____________ then it is called fundamental mode. ('v' is the speed of travelling waves on the string of
length 'L')

िकसी अŮगामी तरंग के िलए यिद आवृिȅ ____ के बराबर है तो इसे मूल िवधा कहा जाता है। ('v', गमन करती Šई तरंगो ंकी चाल है तथा 'L' धागे की लंबाई है िजस पर तरंग गित कर रही है)

Options:
1) v/L
2) 2v/L
3) v/4L
4) v/(2L)

Correct Answer: v/(2L)

Candidate Answer: [ NOT ANSWERED ]

QID : 750 - How many nodes and anti-nodes the third harmonic of a standing wave in a pipe which is open at one end and closed at the other has?

एक पाइप मŐ उȰŊ तरंग के तृतीय गुणावृिȅ के िकतने िन˙ंद और Ů˙ंद होते हœ जो एक छोर पर खुला है और दूसरे पर बंद हœ?
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Options:
1) 3 nodes and 2 anti-nodes
3 िन˙ंद (नोड) और 2 Ů˙ंद (रोİȴ नोडस)
2) 2 nodes and 2 anti-nodes
2 िन˙ंद (नोड) और 2 Ů˙ंद (रोİȴ नोडस)
3) 3 nodes and 3 anti-nodes
3 िन˙ंद (नोड) और 3 Ů˙ंद (रोİȴ नोडस)
4) 4 nodes and 4 anti-nodes
4 िन˙ंद (नोड) और 4 Ů˙ंद (रोİȴ नोडस)

Correct Answer: 2 nodes and 2 anti-nodes
2 िन˙ंद (नोड) और 2 Ů˙ंद (रोİȴ नोडस)

Candidate Answer: [ NOT ANSWERED ]

QID : 751 - What is the minimum angle of deviation for a thin prism equal to? ('n21' is refractive index of the material of the prism and 'A' is the angle of the prism)

पतले िŮǚ के िलए Ɋूनतम िवचलन का कोण िकसके बराबर होता है? ('n21', िŮǚ के पदाथŊ का अपवतŊनांक और 'A' िŮǚ का कोण है)

Options:
1) (n21+1)A
2) (n21-1)A
3) (n21-1)/A
4) (n21+1)/A

Correct Answer: (n21-1)A

Candidate Answer: [ NOT ANSWERED ]

QID : 752 - A ray passing through the focus of a concave mirror after reflection _______________.

अवतल दपŊण के फोकस से गुज़रने वाली िकरण परावितŊत होने के पʮात _____ से गुज़रती है।
Options:
1) retraces the path it came from
अपने पथ को पुन: अनुरेİखत करती है
2) passes through the focus
फोकस से गुज़रती है
3) becomes parallel to the principal axis
मुƥ अƗ के समांतर हो जाती है
4) deviates in such a way that, when projected backwards passes, through the focus
अपने मागŊ से इस तरह हटती हœ िक जब वे पीछे की ओर ŮƗेिपत होती हœ तो फोकस से गुज़रती हœ
Correct Answer: becomes parallel to the principal axis
मुƥ अƗ के समांतर हो जाती है
Candidate Answer: [ NOT ANSWERED ]

QID : 753 - If the object is at the centre of curvature, then the image obtained after reflection from a concave mirror is formed ________.

यिद कोई वˑु वŢता के कŐ ū मŐ है तो अवतल दपŊण से Ůितिबंिबत होने के बाद Ůाɑ छिव ________ बनती है।
Options:
1) at infinity, highly enlarged, real and inverted
अनंत पर, बŠत बड़ा, वाˑिवक और उʐा
2) at the centre of curvature, same size, real and erect
वŢता कŐ ū पर, समान आकार का, वाˑिवक और सीधा
3) at the centre of curvature, same size, real and inverted
वŢता कŐ ū पर, समान आकार का, वाˑिवक और उʐा
4) at infinity, highly enlarged, real and erect
अनंत पर, बŠत बड़ा, वाˑिवक और सीधा
Correct Answer: at the centre of curvature, same size, real and inverted
वŢता कŐ ū पर, समान आकार का, वाˑिवक और उʐा
Candidate Answer: [ NOT ANSWERED ]

QID : 754 - Red light emerges at an angle of ______ related to the incoming sunlight in case of a primary rainbow.

Ůाथिमक इȾधनुष मŐ आने वाले सूयŊ के Ůकाश से लाल रंग _____ के कोण पर िनकलता है।
Options:
1) 40°

2) 53°

3) 42°

4) 50°

Correct Answer: 42°

Candidate Answer: [ NOT ANSWERED ]
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QID : 755 - What is the linear magnification m, for the image formed at the near point D, by a simple microscope equal to? (f is focal length)

सरल सूƘदशŎ Ȫारा िनकट िबंदु D पर बनने वाले Ůितिबंब का रैİखक आवधŊन m, िकसके बराबर होता है? (f फोकल लɾाई है)

Options:
1) 1 + D/f
2) 1 - D/f
3) 1 + f/D
4) 1 - f/D

Correct Answer: 1 + D/f

Candidate Answer: [ NOT ANSWERED ]

QID : 756 - If an object is placed 20 cm in front of a convex lens of focal length 7.5 cm then find the position of the image (in cm).

यिद कोई वˑु उȅल लŐस के सामने 20 से.मी. की दूरी पर रखी है तथा लŐस की फोकस दूरी 7.5 से.मी. है तो Ůितिबंब की İ̾थित (से.मी. मŐ) ǒात करŐ?
Options:
1) 24
2) 30
3) 12
4) 15

Correct Answer: 12

Candidate Answer: [ NOT ANSWERED ]

QID : 757 - Intensity of light at a point on the screen due to two coherent sources each generating an intensity Io at the point and reaching the point at a phase
difference of φ is given by _____________.

यिद दो कलासंबȠ ˓ोतो ंȪारा िकसी िबंदु पर Ůकाश की औसत तीŴता _____ Ȫारा दी जाती हœ जहां Ůȑेक ˓ोत Ȫारा उȋɄ तीŴता Io है तथा दोनो ंके बीच कलांतर φ है।

Options:
1) I = Iocos2(φ/2)

2) I = 4Iocos2φ

3) I = Iocos2φ

4) I = 4Iocos2(φ/2)

Correct Answer: I = 4Iocos2(φ/2)

Candidate Answer: [ NOT ANSWERED ]

QID : 758 - Experimental observation in a single slit experiment shows that the intensity has a central maximum at θ = 0 and minima at θ = ______________.
(where θ is the angle between the central line and the line joining the midpoint of the slit of width 'a' to any point P on the screen, λ is the wavelength of the light
and n = ±1, ±2, ±3, ....)

एकल िझरी के Ůायोिगक ŮेƗण दशाŊते हœ िक तीŴता का कŐ ūीय उİǄʿ θ = 0 Ůाɑ होता है तथा Ɋूनतम θ = ______________ पर Ůाɑ होता है। (जहां θ, ˌीन पर िकसी िबंदु P पर 'a'
चौड़ाई की िझरी के मȯिबंदु और मȯ रेखा को जोड़ने वाली रेखा के बीच बना कोण है, λ Ůकाश की तरंगदैƽŊ है जहां n = ±1, ±2, ±3, ....)

Options:
1) nλ/a
2) (n+1/2) λ/a
3) na/λ
4) (n+1/2)a/λ

Correct Answer: nλ/a

Candidate Answer: [ NOT ANSWERED ]

QID : 759 - To obtain a magnification of 6 at near point 25 cm what must be the focal length (in cm) of the convex lens?

िनकट िबंदु 25 से.मी. पर 6 आवधŊन Ůाɑ करने के िलए उȅल लŐस की फोकल दूरी (से.मी. मŐ) Ɛा होनी चािहए?
Options:
1) 4.167
2) 10
3) 24
4) 5

Correct Answer: 5

Candidate Answer: 5
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QID : 760 -

Options:
1) 40

2) 25

3) 50

4) 30

Correct Answer: 50

Candidate Answer: [ NOT ANSWERED ]

QID : 761 -

Options:
1) 75

2) 125

3) 50

4) 25

Correct Answer: 50

Candidate Answer: [ NOT ANSWERED ]

QID : 762 - Due to an electric field 'E' directed upwards an electron of charge 'e' and mass 'm' will have an acceleration _______________.

िकसी उपįरमुखी िवद्यु त Ɨेũ 'E' के कारण 'e' आवेश और 'm' ūʩमान  वाले इलेƃŌ ॉन पर ____ ȕरण लगता है।
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Options:
1) eE/m upwards
eE/m उपįरमुखी
2) e/(Em) downwards
e/(Em) अधोमुखी
3) e/(Em) upwards
e/(Em) उपįरमुखी
4) eE/m downwards
eE/m अधोमुखी
Correct Answer: eE/m downwards
eE/m अधोमुखी
Candidate Answer: eE/m downwards
eE/m अधोमुखी

QID : 763 - What is the magnitude of torque experienced by a dipole of length 2a and charges q and -q at each ends of the dipole placed in an electric field E?

िकसी िवद्यु त Ɨेũ E मŐ रखे 2a लɾाई वाले िȪŬुव पर बल आघूणŊ का पįरमाण Ɛा होगा िजसके िसरो ंपर q और -q आवेश हœ?
Options:
1) 2qEasinθ

2) qEasinθ

3) 2q2Easinθ

4) q2Easinθ

Correct Answer: 2qEasinθ

Candidate Answer: 2qEasinθ

QID : 764 - What is electrostatic field at a distance r from a point charge q  proportional to?

िबंदु आवेश q से r दूरी पर İ̾थत िवद्यु त Ɨेũ िकसके समानुपाती होता है?

Options:
1) 1/r
2) r
3) r2

4) 1/r2

Correct Answer: 1/r2

Candidate Answer: [ NOT ANSWERED ]

QID : 765 - Assuming there are no other charges, the work done in bringing a charge q2 from infinity to a distance r12 from charge q1 is ______________.

िकसी अɊ आवेश को उपİ̾थत न मानते Šए आवेश q2 को अनंत से r12 दूरी पर İ̾थत q1 आवेश तक लाने मŐ िकया गया कायŊ _____ होता है।

Options:
1) q1q2/(4πεor)

2) q1q2/(4πεor2)

3) q1q2/√(4πεor)

4) q1q2/√(4πεor2)

Correct Answer: q1q2/(4πεor)

Candidate Answer: [ NOT ANSWERED ]

QID : 766 - Which of the following statements regarding electrostatics of conductors is false?

चालक (कंड̋टर) İ̾थरवैद्यु ितकी (इले̋टŌ ो̾टािट̋स) के संबंध मŐ िनɻिलİखत मŐ से Ɛा असȑ है?

Options:
1) The interior of a conductor has uniform charge distribution in the static situation.
̾थैितक İ̾थित मŐ चालक के भीतर आवेश समान ŝप से िवतįरत होता है
2) At the surface of a charged conductor, electrostatic field must be normal to the surface at every point.
आवेिशत चालक के पृʿ पर, पृʿ के Ůȑेक िबंदु पर İ̾थरवैद्यु त Ɨेũ अिभलंबवत होना चािहए
3) Inside a conductor, electrostatic field is zero.
चालक के भीतर İ̾थरवैद्यु त Ɨेũ शूɊ होता है
4) Electrostatic potential is constant throughout the volume of the conductor and has the same value (as inside) on its surface.
चालक के समˑ आयतन मŐ İ̾थर वैद्यु त िवभव İ̾थर रहता है तथा इसका मान इसके पृʿ पर भी समान (भीतर के बराबर) होता है
Correct Answer: The interior of a conductor has uniform charge distribution in the static situation.
̾थैितक İ̾थित मŐ चालक के भीतर आवेश समान ŝप से िवतįरत होता है
Candidate Answer: [ NOT ANSWERED ]
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QID : 767 - The electric field in the inner region between two charged plates of a parallel plate capacitor is equal to  ____________. (σ is surface charge density)

समानांतर ɘेट संधाįरũ के दो आवेिशत ɘेटो ंके बीच के भीतर के Ɨेũ मŐ िवद्यु त Ɨेũ ____________ के बराबर होता है। (σ सतह आवेश घनȕ है)

Options:
1) σ/εo
2) σ/(2εo)
3) 2σ/εo

4) σ2/εo

Correct Answer: σ/εo

Candidate Answer: [ NOT ANSWERED ]

QID : 768 - What is the energy density (energy stored per unit volume of space) of the parallel plate capacitor? (where E is the electric field between the two
plates)

समानांतर ɘेट संधाįरũ का ऊजाŊ घनȕ (Ůित इकाई माũा मŐ संŤिहत ऊजाŊ की माũा) Ɛा है? ( जहाँ E उन दो ɘेटो ंके बीच İ̾थत िवद्यु त Ɨेũ है)

Options:
1) εoE/2

2) 2εoE2

3) 2εoE

4) εoE2/2

Correct Answer: εoE2/2

Candidate Answer: [ NOT ANSWERED ]

QID : 769 - If the effective resistance is 6 kΩ and one of the two resistors connected in parallel is 8 kΩ then find the value of the other resistor (in kΩ).

यिद Ůभावी Ůितरोधकता 6 kΩ है और समांतर Ţम मŐ जोड़े गए दो Ůितरोधको ंमŐ से एक का Ůितरोध 8 kΩ है तो दूसरे Ůितरोध का मान ǒात करŐ  (kΩ मŐ)
Options:
1) 12
2) 24
3) 16
4) 48

Correct Answer: 24

Candidate Answer: 24

QID : 770 - While studying electron drift through a metallic conductor, what is conductivity (σ) of the material equal to? (Where e is charge on an electron, m is
mass of an electron, E is the electric field, τ is relaxation time and n is the number of free electrons per unit volume)

िकसी धाȕीय चालक से इलेƃŌ ॉन के अपवाह मŐ पदाथŊ की चालकता (σ) िकसके बराबर होती है? (जहां e इलेƃŌ ॉन पर आवेश, m इलेƃŌ ॉन का ūʩमान, E िवद्यु त Ɨेũ, τ िवŵांित काल और n
धातु के संधाįरũ के Ůित एकांक आयतन मŐ मुƅ इलेƃŌ ॉɌ की संƥा है)

Options:
1) ne2τE/m
2) ne2τ/m
3) σE
4) eτ/m

Correct Answer: ne2τ/m

Candidate Answer: [ NOT ANSWERED ]

QID : 771 - If the electric and magnetic fields (E and B respectively) are perpendicular to each other and also perpendicular to the velocity v of a charged particle
then the particles with velocity equal to _______ will pass through undeviated.

यिद िवद्यु त तथा चुɾकीय Ɨेũ (E तथा B Ţमश:) एक दूसरे के लंबवत हो ंऔर आवेिशत कण का वेग इन दोनो ंके लंबवत हो तो _____ चाल वाले कण ही िबना िवƗेिपत Šए गुज़रते हœ।
Options:
1) E/B

2) B/E

3) √(E/B)

4) √(B/E)

Correct Answer: E/B

Candidate Answer: √(B/E)

QID : 772 - What is the kinetic energy of the particle of mass m carrying a charge q that exits the cyclotron equal to? (Where R is radius of the trajectory at exit 
and B is the magnetic field perpendicular to the Dees)

साइƑोटŌ ॉन से िनकलने वाले m ūʩमान और q आवेश वाले कण की गितज ऊजाŊ िकसके बराबर होती है? (जहां R िनगŊम पर ŮƗेप की िũǛा और B डीज़ के लंबवत चुɾकीय Ɨेũ है)
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Options:
1) (qBm)2/2R
2) (BRm)2/2q
3) (qBR)2/2m
4) (qmR)2/2B

Correct Answer: (qBR)2/2m

Candidate Answer: [ NOT ANSWERED ]

QID : 773 - The magnetic dipole moment of a revolving electron is ____________. (e is charge on an electron, v is orbital speed and r is radius of orbit)

पįरŢमी इलेƃŌ ॉन का चुɾकीय िȪŬुव आघूणŊ ____ होता है। (e इलेƃŌ ॉन पर आवेश, v कƗीय चाल वेग और r कƗा की िũǛा है)

Options:
1) evr/2
2) 2ev/r
3) 2er/v
4) 2rv/e

Correct Answer: evr/2

Candidate Answer: [ NOT ANSWERED ]

QID : 774 - The earth's magnetic field arises due to electrical currents produced by convective motion of metallic fluids in the outer core of the earth. This is known
as the ____________ effect.

 पृțी का चुɾकीय Ɨेũ इसके बा˨ Ţोड़ के धाİȕक तरलो ंकी संवाहक गित के कारण उȋɄ िवद्यु त धाराओ ंके पįरणामˢŝप अİˑȕ मŐ आता है। इसे _____ Ůभाव कहा जाता है।
Options:
1) cyclotron
साइƑोटŌ ोन
2) dynamo
डायनेमो
3) inductive
Ůेįरत
4) solenoid
पįरनािलका
Correct Answer: dynamo
डायनेमो
Candidate Answer: [ NOT ANSWERED ]

QID : 775 - What is magnetic intensity (H) equal to? (where B is the magnetic field generated inside an electromagnet,  M is magnetisation of the material of the
core and µ0 is permeability of vacuum)

चुɾकीय तीŴता (H) िकसके बराबर होती है? (जहां B िवद्यु तचंुबक के अȽर उȋɄ चुɾकीय Ɨेũ, M Ţोड़ (कॉर) के पदाथŊ का चंुबकन और µ0 िनवाŊत की पारगʄता है)

Options:
1) B/µo - M
2) B/µo + M
3) M/µo - B
4) M/µo + B

Correct Answer: B/µo - M

Candidate Answer: [ NOT ANSWERED ]

QID : 776 - A bar of diamagnetic material placed in an external magnetic field will ______________________ field.

बा˨ चुɾकीय Ɨेũ मŐ रखी Ůितचुɾकीय पदाथŊ की एक छड मŐ __________ ।
Options:
1) pull in the field lines and move from high to low
Ɨेũ रेखाएं आकिषŊत होती हœ और अिधक Ɨेũ से कम Ɨेũ की ओर जाती हœ
2) repel out the field lines and move from low to high
Ɨेũ रेखाएं िवकिषŊत होती हœ और कम से अिधक Ɨेũ की ओर जाती हœ
3) pull in the field lines and move from low to high
Ɨेũ रेखाएं आकिषŊत होती हœ और कम Ɨेũ से अिधक Ɨेũ की ओर जाते हœ
4) repel out the field lines and move from high to low
Ɨेũ रेखाएं िवकिषŊत होती हœ और अिधक Ɨेũ से कम Ɨेũ की ओर जाती हœ
Correct Answer: repel out the field lines and move from high to low
Ɨेũ रेखाएं िवकिषŊत होती हœ और अिधक Ɨेũ से कम Ɨेũ की ओर जाती हœ
Candidate Answer: [ NOT ANSWERED ]

QID : 777 - An ac voltage v = vm sinωt applied to a pure inductor L, drives a current in the inductor, i = ____________.

िकसी शुȠ Ůेरक L पर Ůयुƅ ac वोʐता v = vm sinωt इसमŐ i = _____ धारा संचािलत करता है।
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Options:
1) im sin(ωt - π/2)

2) im sin(ωt + π/2)

3) im sin(ωt - π)

4) im sin(ωt + π)

Correct Answer: im sin(ωt - π/2)

Candidate Answer: [ NOT ANSWERED ]

QID : 778 - For a series RLC circuit driven by voltage v = vmsinωt, the current is given by i = im sin(ωt + φ) and the power factor = ____________.

वोʐता v = vmsinωt Ȫारा संचािलत िकसी ŵेणी बȠ RLC पįरपथ मŐ धारा का मान i = im sin(ωt + φ) और शİƅ गुणांक = ___ होता है।

Options:
1) tanφ

2) cos2φ

3) cosφ

4) tan2φ

Correct Answer: cosφ

Candidate Answer: [ NOT ANSWERED ]

QID : 779 - The equation ∮E.dl = -dΦB/dt represents ____________.

समीकरण ∮E.dl = -dΦB/dt ______ को ŮदिशŊत करता है।

Options:
1) Faraday’s Law
फैराडे का िनयम
2) Gauss’s Law for magnetism
चुɾकȕ संबंधी गाउस िनयम
3) Gauss’s Law for electricity
िवद्यु त संबंधी गाउस िनयम
4) Ampere – Maxwell Law
ऐİɼयर-मैƛवेल िनयम
Correct Answer: Faraday’s Law
फैराडे का िनयम
Candidate Answer: [ NOT ANSWERED ]

QID : 780 - Which waves are produced by using a magnetron valve?

मैưाटŌ ॉन के उपयोग करके िकन तरंगो ंका उȋादन िकया जा सकता है?

Options:
1) Ultraviolet
पराबœगनी
2) X-Rays
X-िकरणŐ
3) Microwaves
सूƘ तरंगŐ
4) Gamma rays
गामा िकरणŐ
Correct Answer: Microwaves
सूƘ तरंगŐ
Candidate Answer: [ NOT ANSWERED ]
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QID : 781 -

Options:
1) A-1, B-3, C-2

2) A-2, B-3, C-1

3) A-3, B-2, C-1

4) A-3, B-1, C-2

Correct Answer: A-1, B-3, C-2

Candidate Answer: [ NOT ANSWERED ]

QID : 782 - The empirical formula for the observed wavelengths (λ) for hydrogen is 1/λ = R(1/k2 - 1/n2), where R is Rydberg constant. What is the value of k for
the Paschen series?

हाइडŌ ोजन के िलए अवलोकन िकया गया तरंग दैȯŊ (λ) के िलए अनुभवजɊ सूũ 1/λ = R(1/k2 - 1/n2) है, जहां R įरडबगŊ İ̾थरांक है। पाशन ŵेणी के िलए k का मान Ɛा है?

Options:
1) 4
2) 1
3) 3
4) 2

Correct Answer: 3

Candidate Answer: [ NOT ANSWERED ]

QID : 783 - When an electron makes a transition from one of its specified non-radiating orbits to another of lower energy it emits a photon. The frequency of this
photon is given by ________.

जब एक इलेƃŌ ॉन अपनी िकसी िनिदŊʼ गैर-िविकरण कƗा से एक दूसरी कम ऊजाŊ वाली कƗा मŐ संŢमण करता है तो यह एक फोटान का उȖजŊन करता है। इस फोटॉन की आवृिȅ ________
Ȫारा दशाŊई जाती है।
Options:
1) Planck's constant/Difference in energy levels of the orbitals
ɘांक İ̾थरांक / कƗाओ ंके ऊजाŊ ˑर मŐ अंतर
2) Difference in energy levels of the orbitals/Planck's constant
कƗाओ ंके ऊजाŊ ˑर मŐ अंतर/ɘांक İ̾थरांक
3) (Difference in energy levels of the orbitals/Planck's constant)2

(कƗाओ ंके ऊजाŊ ˑर मŐ अंतर/ɘांक İ̾थरांक)2

4) (Planck's constant/Difference in energy levels of the orbitals)2
(ɘांक İ̾थरांक / कƗाओ ंके ऊजाŊ ˑर मŐ अंतर)2

Correct Answer: Difference in energy levels of the orbitals/Planck's constant
कƗाओ ंके ऊजाŊ ˑर मŐ अंतर/ɘांक İ̾थरांक
Candidate Answer: [ NOT ANSWERED ]

QID : 784 - The magnitude of the energy of a hydrogen electron is __________________ its Principal quantum number.

हाइडŌ ोजन इलेƃŌ ॉन की ऊजाŊ का पįरमाण इसके मुƥ Ɠांटम नंबर के __________________ होती है।
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Options:
1) inversely proportional to
से ʩुǿम आनुपाितक
2) directly proportional to
के सीधे आनुपाितक
3) inversely proportional to the square of
के वगŊ के ʩुǿम आनुपाितक
4) directly proportional to square of
के वगŊ के सीधे आनुपाितक
Correct Answer: inversely proportional to the square of
के वगŊ के ʩुǿम आनुपाितक
Candidate Answer: [ NOT ANSWERED ]

QID : 785 - The kinetic energy of the electron of a hydrogen atom is ________________ its radius of orbit.

हाइडŌ ोजन परमाणु के इलेƃŌ ॉन की गितज ऊजाŊ इसकी कƗा की िũǛा के ________________ होती है।
Options:
1) directly proportional to
से सीधे आनुपाितक
2) inversely proportional to
के ʩुǿम आनुपाितक
3) directly proportional to square of
वगŊ के सीधे आनुपाितक
4) inversely proportional to the square of
वगŊ के ʩुǿम आनुपाितक
Correct Answer: inversely proportional to
के ʩुǿम आनुपाितक
Candidate Answer: [ NOT ANSWERED ]

QID : 786 - Calculate the wavelength (in nm) of the spectral line of Lyman series for n = 4. (Rydberg constant = 1.1 × 107 m-1)

n = 4 के िलए लाईमैन ŵंृखला की वणŊŢमीय रेखा के तरंग दैȯŊ (nm मŐ) की गणना करŐ । (įरडबगŊ İ̾थरांक = 1.1 × 107 m-1)

Options:
1) 196
2) 96
3) 296
4) 396

Correct Answer: 96

Candidate Answer: [ NOT ANSWERED ]

QID : 787 - Nucleus of 233Pa91 emits one beta particle to give nucleus of _________.

233Pa91 का नािभक _________ के नािभक को देने के िलए एक बीटा कण का उȖजŊन करता है।

Options:
1) 233Pa91

2) 225Ac89

3) 228Ra88

4) 233U92

Correct Answer: 233U92

Candidate Answer: [ NOT ANSWERED ]

QID : 788 - 233U92 → AAc89 + 2α particles + β particle. What is the value of A?

233U92 → AAc89 + 2α कण + β कण । A का मान Ɛा है?

Options:
1) 226

2) 223

3) 227

4) 225

Correct Answer: 225

Candidate Answer: [ NOT ANSWERED ]
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QID : 789 - What are  130Xe54 and 130Te52  examples of?

130Xe54 और 130Te52 िकसके उदाहरण हœ?

Options:
1) isotopes
सम̾थािनक
2) isomers
समावयवता
3) isotones
समɊूटŌ ािनक
4) isobars
समभाįरक
Correct Answer: isobars
समभाįरक
Candidate Answer: isotopes
सम̾थािनक

QID : 790 - In about 5 billion years after the sun has consumed almost all of its hydrogen fuel it will become a ____________.

लगभग 5 अरब वषŘ मŐ सूरज Ȫारा लगभग सभी हाइडŌ ोजन ईंधन की खपत कर लेने के बाद यह एक ____________ आ जाएगा।
Options:
1) blue dwarf
ɰू ड्वाफŊ
2) black hole
ɰैक होल
3) supernova
सुपरनोवा
4) red giant
लाल िवशाल गोला
Correct Answer: red giant
लाल िवशाल गोला
Candidate Answer: supernova
सुपरनोवा

QID : 791 - How many neutrons an atom of 131Xe54 has?

131Xe54 के एक परमाणु मŐ िकतने ɊूटŌ ॉɌ होते हœ?

Options:
1) 131
2) 77
3) 54
4) 92

Correct Answer: 77

Candidate Answer: 77

QID : 792 - Half life of Fermium-253 is 3 days. How many days will it take for 2gm of Fermium to become 0.125gm?

फ़िमŊयम -253 का आधा जीवन 3 िदन है। 2 Ťाम फिमŊयम का िकतने िदनो ंमŐ 0.125 Ťाम बच जायेगा?
Options:
1) 24

2) 6

3) 3

4) 12

Correct Answer: 12

Candidate Answer: [ NOT ANSWERED ]

QID : 793 - 1no + 235U92 → ySb52 + 99Nb41 + 41no.Find y from the given fission equation of an uranium nucleus?

1no + 235U92 → ySb52 + 99Nb41 + 41no यूरेिनयम नािभक के िदए गए िवखंडन समीकरण से y ǒात करŐ?

Options:
1) 131
2) 132
3) 133
4) 134

Correct Answer: 133

Candidate Answer: [ NOT ANSWERED ]
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QID : 794 - 3H1 + 3H1 → 4He2 + 2 ________

3H1 + 3H1 → 4He2 + 2 ________

Options:
1) protons
Ůोटॉन
2) neutrons
ɊूटŌ ॉन
3) positrons
पोजीटŌ ान
4) electrons
इलेƃŌ ॉन
Correct Answer: neutrons
ɊूटŌ ॉन
Candidate Answer: positrons
पोजीटŌ ान

QID : 795 - Calculate the mass defect(in u) of an atom of 7Li3 having atomic mass 7.016 u. (masses of neutron, proton and electron are  1.00866 u, 1.00727 u and
0.00055 u respectively).

7.016 u परमाणु ūʩमान वाले 7Li3 के परमाणु ūʩमान दोष (u मŐ) की गणना करŐ । (ɊूटŌ ॉन, Ůोटॉन और इलेƃŌ ॉन के ūʩमान Ţमशः 1.00866 u, 1.00727 u और 0.00055 u हœ)

Options:
1) 0.042099
2) 0.084199
3) 0.126299
4) 0.021049

Correct Answer: 0.042099

Candidate Answer: [ NOT ANSWERED ]

QID : 796 - When a small amount, say, a few parts per million (ppm), of a suitable impurity is added to the pure semiconductor, the conductivity of the
semiconductor is increased manifold. Such materials are known as ___________________.

जब एक उपयुƅ अशुȠता की एक छोटी सी रािश, जैसे, Ůित िमिलयन मŐ कुछ भाग (पीपीएम), शुȠ सेमीकंडƃर मŐ िमलाई जाती है, तो उस अधŊचालक की चालकता कई गुना बढ़ जाती है। इस
तरह की सामŤी को ___________________ के ŝप मŐ जाना जाता है।
Options:
1) extrinsic semiconductors
अपūʩी अधŊचालक
2) intrinsic semiconductors
आंतįरक अधŊचालक
3) elemental semiconductors
बुिनयादी अधŊचालक
4) compound semiconductors
िमिŵत अधŊचालक
Correct Answer: extrinsic semiconductors
अपūʩी अधŊचालक
Candidate Answer: extrinsic semiconductors
अपūʩी अधŊचालक

QID : 797 - When a diode is reverse biased then the barrier height ____________________________.

जब कोई डायोड įरवसŊ बाय̾ड होता है तो बाधा की ऊंचाई ______।
Options:
1) decreases and the depletion region widens
घट जाती है और कमी वाला Ɨेũ बढ़ जाता है
2) increases and the depletion region narrows
बढ़ जाती है और कमी वाला Ɨेũ संकुिचत होता है
3) increases and the depletion region widens
बढ़ जाता है और कमी वाला Ɨेũ बढ़ जाता है
4) decreases and the depletion region narrows
घट जाती है और कमी वाले Ɨेũ मŐ संकुचन होता है
Correct Answer: increases and the depletion region widens
बढ़ जाता है और कमी वाला Ɨेũ बढ़ जाता है
Candidate Answer: decreases and the depletion region widens
घट जाती है और कमी वाला Ɨेũ बढ़ जाता है

QID : 798 - In a transistor, the ______________ is moderately doped and largest in size.

एक टŌ ांिजːर मŐ ______________ मामूली ढंका और आकार मŐ सबसे बड़ा होता है।

Staff Selection Commision http://thepracticetest.in/cs_imd_17/response_questions.php?t_id=MjM...

49 of 50 12/7/2017, 11:00 AM



Options:
1) emitter
उȖजŊक
2) base
आधार
3) junction
संगम
4) collector
संŤाहक
Correct Answer: collector
संŤाहक
Candidate Answer: collector
संŤाहक

QID : 799 - When a transistor is used in common emitter configuration, input resistance is defined as the ratio of change in
_____________________________current at constant collector-emitter voltage.

जब एक टŌ ांिजːर का उपयोग आम उȖजŊक िवɊास मŐ िकया जाता है तब इनपुट Ůितरोध को िनरंतर संŤाहक-एिमटर वोʐेज पर _____________________________ धारा मŐ पįरवतŊन के
अनुपात के ŝप मŐ पįरभािषत िकया जाता है।
Options:
1) base-collector voltage to the resulting change in base
आधार मŐ पįरणामी पįरवतŊन के िलए आधार-संŤाहक वोʐेज
2) base-emitter voltage to the resulting change in base
आधार मŐ पįरणामी पįरवतŊन के िलए आधार-उȖजŊक वोʐेज
3) base-emitter voltage to the resulting change in emitter
उȖजŊक मŐ पįरणामी पįरवतŊन के िलए आधार-उȖजŊक वोʐेज
4) base-collector voltage to the resulting change in emitter
उȖजŊक मŐ पįरणामी पįरवतŊन के िलए आधार-संŤाहक वोʐेज
Correct Answer: base-emitter voltage to the resulting change in base
आधार मŐ पįरणामी पįरवतŊन के िलए आधार-उȖजŊक वोʐेज
Candidate Answer: [ NOT ANSWERED ]

QID : 800 - The output of a NAND gate is 0 if the inputs are _______.

यिद इनपुट _______हœ, तो NAND गेट का आउटपुट 0 होता है।
Options:
1) (0,0)

2) (0,1)

3) (1,1)

4) (1,0)

Correct Answer: (1,1)

Candidate Answer: (1,1)
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